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. 9T Bl AN TINSY A FHIIR HIed
AN AT HH: 12 90 148 |

Find out an estimate of mode, if mean and
median are 12 and 14.

(A) 16 (B) 18
(C) 14 (D) 20
. (B) g% = 3 x A
— 2 X FHI=IX HIeg
=3x14-2x12
=42-24
=18
. ARG R 9% Ared ¥ feforiad
¥ fow Refa # Fafia @R @6 gr<
B ?
In which of the following situations in

Samuelson business cycle model regular
business cycle will be obtained ?

(A) a=05pB=1 (B) a=05p=2
(C) a=0.6,p=2 (D) a=006,p=4
. (B) » YgTHT WNUR aH ATSA A
a=0.5dem p=2Rea A,
Fafa =R 99w B S|
« YT 7 AR TH AlSA B
gfcrares fasar &1
« TP AIER, WUR TP DI
Ul RN OIS qAT RSB DI
SFaferaTai EIRT & B T Faeh & |
« TS ITIR TN FHI DI AT
SUANT @9 IRT 9w = &R
TRBNT T B IRV & |
« I8 P Yol Wid § g8 ghg
Frder 7 @Y S B
. B T AT YA Ager H S D
ERT GER o 9&d1 & 99 99 <91 31 Fafal
MR STl 7 /AT @ AAra B B
A country can improve its balance of
payments by elimination when the

country has elasticity of demand for its
exports and imports.

(A) $FTE 9 31f¥d/Greater than unit
(B) S®T§ & SRTEX/Equal to unit

(C) 3FTE & PH/Less than unit

(D) T/ Zero

Tel URH-UA

3. (A) » BIZ I MU IAH FJaAT

IV B BRI IR 1 FHAT &
AN KRNI RIS
B HIT D AT SBIS W 3Nreh Bl
¥l

o A B A BT qd B b enfds
TR H IEAT A | AT H ST
el SEATd B |

+ WQTHAS THITHR ISR H BT
¥ w1 6 A W TR AR B |

o I DI DI TSI TR IFD AN
HT & AT TG B DT BH B
TR P! AT TG B |

« AN B 99 TH IS HAT
B 1AM B Rig 3Tc%hs Aiet o
faar am|

. Wi N 1 DF-a1 ST T8 &7

‘Which of these objective monetary policy ?
(A) F&T &1 qerdl/Neutrality of money
(B) qe e/ Price stability

(C) fafma g% ReRar/Exchange rate
stability

(D) TRl |¥TEH/Dynamic Resource

4. (D) » WIfaeie e Afged N @

Seed TE B

o 9RJ ¥ Aifgd Ixa-1 B RoTd gb
3t gfosan (R.B.1) faf~=d &=t
Tl

« Afsw N T8 T & o g™
DU TP N X W I
PR SrfAael H YT B YaTE Bl
RIS TR B

« Wifsew N \fAfy & v 9o B
& 7 99 Fe= RBI 9 80 &
AT o AN\t o g
S TP RT B SR 2 |

o« I THTH AT SATGH JoTelr
anfs # faw & gRUTAwawY
SIS I & T20 D H fRmEae
IR & 79 $HHT TR 3T T
FEd B

5. 9 GUR B THE I AT |
The main object of land reform.
(A) If1 B IR F FGER B/ To
improve of land

(B) qf% &1 gAfaaRoT/Redistribution of

land
(C) 4 &1 SAfeRIET/ Acquisition of land
(D) 9% @1 =g/ Irrigation of land
5. (B) » 4% GUR B 9YE St qH B
YAfIaROT |
- A GIR P ST A & e
BT T gernel § gRad e
B
« 399 I B T & gAfdRom
TR I 1 17T ¥
o URA A 9 GIR BT S YA D
HETH A P SAGHAT DT ST
Tq ARSI B gAREd
BT B |
* YA B ST BN drel AH
YHR B YT G IS T
Pl AT BT |
- W R SufEE 14 SRt
1950 1 IR gaim o |

6. N D 3T bl STHT AfT BT SR
o faam imar 7

Who is responsible for inductive method
of studying economics ?

(A) MR faReRT/ Austrian School
(B) I T U@y faReRT/German

Historical School
(C) wforfied faaReRT/Classical School
(D) w1 fraReRT/Russian School
6. (B) * ST & NETIT H1 AT Afey
P12 S @ SR faER
T BT T AT B |
« sreferred fasme & 9 e ®
e st axgall a qarsii
P Sed & faf Y, o= va
SYHRT BT STeqg T e &

TR | 1




o AA BT O TeH RAY P
T ST & |

« S fIARYRT & ST9R ST
Pl G BT I’ el T B |

7. Tohfered @ fawelvur & AR, THIfd &

THRT BT BA BRA &, Al

According to the Phillips curve analysis,

the way to solve inflation is to

(A) SRR 98 W & T STETEHAT 96
S ¥/Increase unemployment or

increase productivity

(B) SRISFINI 9 IRl & I7 STG T T
S ¥/Increase unemployment or

decrease productivity

(C) WS B WA & A1 Jo1 Ifef 9
ST &/Decrease unemployment or

increase money supply

(D) WS 9¢ SN & a1 Ja1 Iff 9

ST &/Increase unemployment or

increase the money supply
7. (B)  fhferd g fageivor & IR,

THIT T AT BT A B & I
SRISFTRY 96 STl & AT ST
T I B |

- fifored aw I8 sam & & ga
TR U9 SRR & 780 9d
oI Fwawer Ve & |

o TOfeT=T a% &1 AT ISR ST~
IR 31 TR & Fues & forw
Hifges N B AT 9 B 1w
fopar ST B |

* TS AT SR SMYRT A s ya
B T A Il SR Jarsl @
PG TG ST & | DI Dl 5
ghg P GIRWINT Bl & |

* 79 AferT FHTAT HOTgR! I &Y IR
B B DI IOl Bl §, a1 S
RIS FEd & |

8. T 3 T Yem = g7 e Piet Jrex

P AT BT Y NP

The founder of KCC among the following

Prime Minister in India :
(A) £ R8T 3@/ Sri Narsimha Rao

(B) i< @R TSIRTe/Sri Indra Kumar

Gujral

(C) 2N e1ee foer arsrig/Sri Atal Bihari

Vajpayee

(D) #1 w=irest R4/ Sri Manmohan Singh

8. (C) + # s1c foer) aroivs g1 fhsm
Pt FArex Bl T B TS oY |
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9.

10.

10.

« MRA W 21 SR, 2004 § fHAM
it Avex B AT B TS |

o MR H GIYIH LI G B A9
TR ¥ fH™T Bict Arex d FeATasT
BT |

* 3 il BRI T S e
D TARATS BT SRAT & BRAT
AT &3 TS ¥ ST BRI S |

o M BTl Aex] & ST B
2 B P A= S TS
Ry & S B

« e fIER aoiiE IR & 0 IR
JHEA a9 o |

31GRY RIS 54 &1 7 gy oI 87

In which sector disguised unemployment
found ?

(A) SfE=T &51/Banking sector
(B) a1 &5/ Service sector
(C) Bf¥ &=/ Agriculture sector
(D) S&TT &3/ Industrial sector

. (C) » ST RIS BN & &1 A g

S B |

. 3ITT R T Ry T
o eafer feRfi—T—fehedt Rl 1
@ FR @ AT & AP I8 TN
37 I el IT TR & |

o TR ufeRT gIRT B B o 5207
B IR S0 DIE BE T Ao
SRISHTRY FHEeATH & |

o RIS &1 THR B B & —
NISUCKIEHIE
THIOT IRISTIRI

o P RAR RIS, SRISHTY 61
Y TP T B |

PHAT-fANE Baer TN TG & O

Price discrimination is possible only when
(A) fagsar srasa &/Seller is alone
(B) W&W%/ Goods are homogenous

(C) IR RBR B g Af~d &/ Market
is controlled by the Government

(D) 379 | PIS T8I/ None of these
(A) » DT — fA%g Baer 9 T=9 B
SIS g staer 2 |
. S9 Rl T @1 T A At
BT IR 91 ST & 99 98 Reafa
B favg Rerfdy s
« DA A%E J&IT: IR IR @
BT —

11.

11.

R,  Amifer®

SEpiy FHITIAR
« T faug & e i Reqerr
BN @ R B
. B ) v ¥ -
TISIRI Dl GoId @ SR |
IISIRT | AT B A THaAT el
B =Ry |
Ife ST BT ST B U= X X,
g AR Foe UREy M=P X, +P,X, &, @
A wR WR, X, & 17 AT B ent—
If the consumption function of consumer
is U= XX, and budget constraint is M =
P, X, +P,X, at the equilibrium level, the
demand function for X, will be :

M -M
(A) 3 B) Jp2
M -M
© 297 (D) 2p-

(C) DS ¥ SUHET I fordy Sueey
FAM H SO START FAN B
TG YAl Bl qAT ABAT B
IR T 37T TolC AT & IMIR
W HRAT © | QAT IS SqHTERI
B SUATEl B U = X, X, & 3R
goTe gfog=g M =P, X, + P,X, &
HgeH B ®R W X, & I /m

M
WZ—EW|

12. SIHIh®RT AHHOT Bl AFHIRT E—

Demographic transition means :

(A) B9 99 X 3R S g HG X DI
Refd & S2a 91 &R iR 5= 9
TR 1 Rf 1 3R &1/ Shift from
condition of low birth and high death
rates of high birth rate and high death
rates

(B) ST W R R ST T T DI
ReIfd & 1 9T TR IR &7 9 &%
@1 Reifdl b1 SR G1/Shift from the
condition of high birth and high death
rates to low birth and low death rates

(C) 5= T X AR FF ¥ & B
Rerfd & S=a 9 & IR I=a oA
TR % R I 3R 5&1/Shift from

the condition of high death and low
birth rates to high death and high
birth rates

(D) SYFE A BIE Tal/None of the above



12. (B) + ST ¥ X R I I X

13.

13.

14.

14.

& Rfy | &7 o7 &% IR HH
g X I RAIfT &1 IR Fg
ST FHHUT BT AT T |
g & |
- 39 frgra & yfdures s, wH.
AR SR B S ATEH & |
IR RS & 9 I W W
o= e
« 39 Rigia o &I Ui v
gl
@RS O Fa B 5T qH ©, fhd
w9 H—
The accelerator coefficient may be
expressed as :

N B) —
(A) 1c B 7
AC Al
© 5 @) »c
. Al ]
(D) * ©RP oI = ® w0 H
T3 S Haha B |
« @RS Yol H B a1l gRafia e
31 H B gl gRac &1 ST
B 8

s WP NG B gRUET SFRS!
T O, TH. FAD BRI
fo= T |

* TR P TR Bl faprd & 1914
H e e o @1 R 1936
EICECIREIOI
T B I

T 9§ DI Ao B TP YHR el

g7

‘Which of them is not a type of equilibrium ?

(A) |/ Probable

(B) Rer/Stable

(C) @1RkerR/Unstable

(D) dc¥er/Neutral

(A) » T R HAer Bl T YBR
T T

« e 98 R & 51 21 1 31
RER ORI aege a1 9l & B
W G Fger @l AR B |
fepam T o |

15.

15.

16.

« I Q1 YHR H B 5—

Rer Fqger, TfRiel Sger
qeee] a1’ TE P GANT [aged fbe
o ?

Who has first used the term “Neutral of

Money” ?

(A) TI'G!?,"\HT-[/Robertson

(B) &% /Hayek

(C) fawwere/ Wiksted

(D) %rsH+/Friedman

(B) + TcT T TR BT FAYLH AR
TP AT TR g1 b 7
T |

. e HEl T B IIER, IS

TBIhT AT TG YUTlel! i #

faer & gRUREReY SedTe dgdl

¥ qr Hea A fiRrae ard B

o T YT AT I FAIS B F a1
@1 AENfE T & a9 e
Bl

. TeRY qo1 B FaY Ay AT |

AHST S A B |
e erefemel @1 faR o1 & ¥@ <)
H R < @Y BT q-I qAg
PRI Yol & A1 A Sfegaeet W
TG e & ?

Who among the following economist
proposed the idea that changes in bank
rate impact on the economy through
short-terms rates of interest and working
capital ?

(A) ®/Keynes

(B) ¥ &1%/De Kock

(C) BIe/Hawtrey
(D) S ¥ BIS &1/None of these

16. (C) » &g A SRS &l g o

& 9% <X ¥ Rada =~ &
SIPIA G-I T BRI gt
B AIETH W STIgaRe UR YHG
T B |

o S B B S 3T ISR
Rigra &1 wfoare= faar o |

« P B AFAR HAl IT AR DY
Refy & SRISFIRY Srefeyawen #
TR HT ) BH P BRUTBA B |

. 9P R TP YDR BT 15T <% BT &
R AR Rord S g1 anforsy
T IR SR o e B |

17.

17.

18.

18.

+ ISl v 98 EFRIY & O 3ig
MR AT ST B |

o I[HIAN &Sl &% o IR faxig
R & G Il BIeTd SR
form e B 1

Tohfersq ash fobt & a1 =gy oTfia e
87
Phillips curve sets up a relationship

between ?

(A) 71T Td % 37Tqfc/Wages and
labour supply

(B) 93T WHIfd Ud SRISHIRY/Inflation and

unemployment
(C) & T /T/Price and demand
(D) |9 SMYRT TT FHY AT/ Aggregate
supply and aggregate demand
(B) « ffaw 9% JIT THIfT T
RISARI & 19 Igb ¥ATUT DRl
8l
+ S IH D AR, THIRT DI AT
P BT PRA & Al SRISFTRY IS SIRA
gl
- fiofere a9 I8 samn © 5 ga
TR U9 SRISFNI & AT ad
[EENERGSECRER R
» ffersd o &1 TN ISR S
IR TERHR ¥ Foey B R
Afse AT B Dror I & forw
fopan ST 2 |
« S A SR YR W Srge
Ya1 B & < aegell SR i
P DI T B
v it 9P & R Regell w T @
| —
Elasticity of demand on different point of
a demand curve is :

(A) |9 B &/Equal

(B)?ﬁﬁ%/Zero

(C) 3= BKT ¥/Infinite

(D) STETT—3TeTT B ©/Different

(D) * T® A TP B [ fagell =)
HAT B AT SATT—3T Bl B |

o OIF AT BT feT XeEtes R yefid

B &, T /AT G I & |
G D DI BT R AT B 5@l
AT & TAT ANT BT BT BT ST
HIT BT HH PBR T B |

TR | 3



« AT BT e T eiRa avg &
T UF BB AT B U= e
BT YERIT B B |

o AR H AFT BT Her A7 A4
1 g8 WA Bl & T S AIeT Bl
YT FH DA IR @RIE 6
IR & |

19. TRHTUMES HRE =07 61 Teh U™ &—

One of the instrument of quantitative
credit control is :

(A) AfI® g9/ Moral pressure

(B) DU ARg Bl 99/ Regulation
of consumer's credit

(C) WaR/Publicity
(D) §%—5X/Bank-rate

19. (D) * ¥ S Vb GRHAUIHD A fHg=I01

BT UH S B |

* T ARG A0 BT I8 1S & ST
Ib & Ths DN TR YT JHG
T B |

. 39 fofyy & oIR W9 g IF
ARG B AN H HH BRAT ATl &
N 98 §b <X § A BY a1 B

« §% X 98 =X BT & O WX
IRE 96 FH 56 q H
T R © |

« 99 R - 99 ) -
=T e

 RATTAS ARG =07 99 w0
q A E -
¥ =X
ol IR B fopard
RETIE I AT

20. MRA ¥ Sofl ST ¥ Faifee 39 §-

In India the highest share in power
generation is from :

(A) ST So1t/Hydel power
(B) 419 %t/ Thermal power
(C) AR Suif/Solar power

(D) 9xH19] ot/ Atomic power

20. (B) + ARA ¥ il ST H HalfeIH

3T AT STt Bl B |

« AR, 99T SR IREN enfe &
Bl SIS BT & |

o T o1l S Soll BT T W
Bl

4 | AGRAWAL =XAMCART

21.

21.

22.

22.

o ohRiT UaTe) & TH AT TS B B BRI
ST ol SR S0l bl & |
o AN SHoll IS, Saeq $99 §
Rera RIS oIl B A
A Al T Hott e fEq
Sort 7 aRRafdd wxar gl
gReceia ergumal & e aiaa &
T & O —

The law of variable proportions comes
into being when :

(A) Faa Q1 YRac-ENeT |1ee &/ There
are only two variable factors

(B) T& ReR w1 &R var gRacdelar
e &1/ There is a fixed factor and
a variable factor

(C) | 1= uRaceier 21/ All factors

are variable

(D) IRaceNer H1eM B9 SuST <d B/
Variable factors yield less
(B) + IR gud &1 7| TH
ReR &R uRadeier e &1

- gRadTelie ergura &1 frw
SIBIA AT & |

o I[TPBIA H 3= ATEHT DT HIH DI
ReR gy 9 b=l U A1 b
A W ghg @1 SR &

o X STE H A Sy gre B
Tl

o T 3T H WA STTE ol
e B |

« TR a1 BT SART ReR FaH
el 1T & |

o AR TR BI SART g
el I & |

ST fageryor 7 a8 Rerfay S SgHem

e Pl ST 5

The condition which shows consumer

equilibrium in utility analysis :

oy Mo X gy MU T

P, P, P, P,

MU,

®) Yy

©) i XD
MU, P,

— P)C
P,

U, P, .
=— IyAIfIar fageiyor |
MU, P,

I8 Rafd & S Susian dger
P SIH S

s Sgo GRS T A A |
31t TRER faRieh Ty A el
P B IR 9 Feer Pl IRAT B |

(D) -

23.

23.

« g &1 YPHR HT Bl © —
Rere wger
RIGNIGACGGE
o SAATIDRT DT TISE B DI
PY ST Bed & |
o I, fHRT ag @b ST
TS AT & foIg AT 781 Bl
Bl
OPEC 1 fafd o= =7 e &
OPEC controls oil export through :
(A) B B gRI/Cartel
(B) IR §RT/Dumping
(C) THIIHR & §RT/Monopoly
(D) 79 ¥ BIS 7&1/None of these
(A) » OPEC ®I¢aT & gRI I fR3fd u)
=T v
+ OPEC &1 T 91 3RHIZOIRI
3T ST TR B & |
+ OPEC & g=ared ofifgan &
o= TR A B
+ OPEC 9! ¥4+ 10 e 1960
Pl IEIE AT | Bl T8 o |

24. |AESS T A gl B IR —

24.

As a result of increase in public
expenditure :

(A) fihfered agp arfeAl TR gfreentid aran
&/Phillips curve shifts to the right

(B) fiforss ag arit a_w wfcreenfua aran
&/Phillips curve shifts to the left

(C) foforss a6 &1 |ae™ 39 YHKR Bl
¥ b RO T ¥ SR TR
iR &/ Movement of Phillips curve
is such that unemployment increases
and inflation is reduced

(D) fforss 9% &1 |ae™ 39 YHKR Bl
¥ o R AR ¥ Sl gy

IG&N B/Movement of Phillips curve
is such that unemployment reduces
and inflation is increased

(D) » wdS g # gfg & aRumM-
oy fhfoTed a% &1 Fdarerd 39
YHR Bl & fb SR Ry &
IR FEHIRT Tl B |
o NATESTS I BT e IE B fob e
BIg < FH Tl Bl S+ YN,
AT HeToT TAT 31T <01 !
R & T e B |
- QGG I B G I
TS BT YIATRd BRAT & |



25.

25.

26.

26.

o AT Y BT ¥ INE AR
BT AIRY fb <91 | &9 ST
1 fAdRUT IR gl Yicrdel 49T
TR

« fhfere ag e T & i o1 TR
U9 SRISAIRI & ALY Faq fquerg
GECRESIR

1 9§ | D1 T g T IR E 7

Which of the following is a combination

of direct tax ?

(A) STE Yeb AR FHRT F/Excise
duty and wealth tax

(B) 91 #X 3R M &/ Service tax and
income tax

(C) FHRY &R SR M B/ Wealth tax
and income tax
(D) ST Yo AR |al I/ Excise duty
and service tax
(C) » ¥R IR &R T &R TH
A& PR B |
o 19 bRl PR BT BRIETT R BRI
BT MR T &l I IR ISl & ol
I8 G DX HEAT & |
* Y& PR D G AT DR Dl
CINE
o 19 DI Al 3T FHIRT &b Hod
B AR PR IR 72T HRaAT & <A1
SRR PR BEd & |
* & PN Sl U Afd gRT SHDI 3T
TR TN ST & SR B
Bl
+ IR QN YBR BT Bl & —JT&T BT
T 3T B |

| BT TS B A B B |

The cross price elasticity of demand is
equal to :

AQ P AQ Py
AQ, P, Q+Q | P
© Q, AP, ) (P1+P2 j.P2
AQ, P, .
(B) * A_le'é =T Y SIS B A
B T
o 37efPIRE § HIT B AT <A AT
P STATESE! B /YT B |
+ SHPT SYANT FIFIS RGP
YR B B foTU fbar S & |

27.

27.

28.

28.

» TR =g 1 H1T H 3T el ISl
I AN BT AT BEl & |
AT & BT A
HIT B A | SATuIicrs gRac
e ¥ SguIfe aRac
P IR | BH B AT 3T (MR)
BT B INER B & ?

In which market firm's Marginal Revenue
(MR) is equal to price ?

(A) THIEHR/Monopoly
(B) 3reaiferaR/Oligopoly
(C) TaIergpa ferarfirar/Monopolistic
competition
(D) gui RN/ Perfect competition
(D) + gui RN IR § wH @
AT ST BITd & RIS B B |
« QUi 9fSRATET STeiR &t @8 Rerfa
& et fRar a7y SaTe B |
« 39 R 6 = T I8 Bl
Tgd 31 B =y |
« guf SRR 7 a%g 1 Hd B
g 7T &R gl @1 |nfas
fopaall & &IR1 I &
* THIBHR IR H T fagoar 2
& e axg @ gfi R |Rgl
AfBR BT & |
NABARD faa! RIeiRel & enaR 9°
wfee foar T ?

NABARD was established on the
recommendations of ?

(A) @IF ol |fAfT/Public Accounts

Committee
(B) RR¥&H AfMRi/Narasimhan Committee
(C) fera=m= |fAf/Shivaraman Committee
(D) vz AafAf/Chelaiyah Committee

(C) » NABARD @1 ¥Iu+1 RIaR™A
AR & YR TR @l TS |

» NABARD &1 QT ¥ "M
% BIX Tfhecdr TUS B
STATHE” B |

« NABARD &% BANK & S Irio7
&= & I & forw |

« NABARD &1 ¥ 12 TS,
1982 1 &1 T |

. P TR FERIE & g H
Rerg B

« e AaT AT B w9 1921 4
HRT GRBR GRT &l T8 |

« WRTH G 1991 3 971 & enfdies
Hhe $ THY RAAEH AT B
S g T |

« Tl AT B YT 1976 H
AT SR & A& Al o
B, ST IR GUR & forg

TSI YGEN eI §IRT BT T |

29, B9 G 31ferh GrE & —

29.

30.

30.

Keynes was most concerned with :
(A) HT S Wit/ Demand-pull inflation
(B) &NTa YR FHIfT/Cost push inflation
(C) RS THIfer/Structural inflation
(D) g T/ Stagflation
(A) » BT BT FEN AP FFT AR
ST EHIfT | B |
o P D IYAR, HA AT IfqAE
o1 Rafd F RIS srefegawen
H Y AT D HA B BRI BN
5l
o 1. TH. BN A SR Rigia @1
o gfcrares fom 1
« NG IRT TR B & FRU
NI ¥ gfg B
* WAT BT R SR 6 qrerfiesdr
TR SR & |
« TG T QIS B HAT WR W
TRIIR B aTell Jheg 1 GIrbifar
P & |
ARA H ‘RIS’ ST TS e Gl 7
When was ‘Niti Aayog’ formulated in
India ?
(A) 2013 (B) 2014
(C) 2015 (D) 2016
(C) » 9RA ¥ T ST I TS T
2015 ¥ gaf o |
o IRT SR PT TST IRA DR
ERT o5 T B
« T SN &1 gy 75 faeeh
oI 3 Srezed TR Al ot & |
* NITI SR &1 QR M AL
SECICYTH B TRIBIHT ST T |
o A AR BT B ARDR DI
AT B Tt Y& BRAT & |
- TAAE H AN SR B g
PRIBIY Fee AT B & |

TR | 5




31.

31.

32.

32.

R e S% & qEerd § —
The headquarter of Asian Development
Bank is at :

(A) RIFTIYR/Singapore
(B) HiIelT/Manila
(C) BFTHRT/HongKong
(D) a1/ Tokyo
(B) « TRRM e 3% &1 Je™
LEISIREZGI I
« URRE fdwmr 9% & w9 19
fF IR 1966 &1 &1 T8
. TP e TRATE <= B AP
o & ey & fou et
HAT
« 39 I B I eTE ARG
ST & |
+ 3995 B A G D T 68
Bl
ffoRad § 4 B9 Hla—<HTe ScTad
HoH & 1Y 9 78 & ?

Which of the following is not true for the
Cobb-Douglas Production Function ?

(A) X=b, LK™
(B) ¥ & Rk gfathet/ Constant returns

to scale

(C) &R 99T §C B ©/Euler's

theorem is satisfied

(D) gicReT &1 < sd 9 AD/
Elasticity of substitution is greater
than one

(B) * UfRATUT & AT SHS BII—
T STe Herd & ol |
T

« 39 WeH & AR AATuTET
Wﬁ@‘cﬂ@ﬂﬁﬁ%@ﬁ
T err oy % ARTET ST BT BT

Tl

* B T N IR O Sre
e B |

o DT TANT FHEUERT SERT B
Y ¥ a1 S Bl

o T W SEN B HEY IR B
IR TR MR & |

« 39 Hed @I [Q = KLAC(1 — a)]
BRI T IR © |

33. CRISIL, ICRATY CIBIL®RIT T ?

CRISIL, ICRA and CIBIL are :

6 | AGRAWAL =XAMCART

33.

(A) IRTF Bfee AT gor=ire]/World
Credit Rating Agencies

(B) IR Bfse ST gor=ire]/Indian
Credit Rating Agencies

(C) 3rReT Bfee ST Toris]/ American
Credit Rating Agencies

(D) TRIE Bfee ST To=AIN/Asian
Credit Rating Agencies
(B) + CRISIL, ICRA Td CIBIL T&%
ARAT BT ST 7o B |
+ CRISIL U& 9RAY fagersoners
HU T WA ST Y™ v
SiIRed Ifd AeledR Hal 9&
B B
+ CRISIL &1 TR JoIg H qoI
T ehe] STHIRT Wadl & |
+ ICRA &1 T 9 THIRM TS
Bfee AT Tor=it T
« e gETery 9RA & Jehia |
Rea & |
+ CIBIL &1 [T M HIST ST
R gfea fafics & de S|
AT |F 2000 F Y 7T o |

34, TP UH fAfy T8 ¥ —

34.

35s.

Tariff is not a tool for :

(A) YT A i/ Balance of payments
(B) RETUT BI/Protection

(C) STl B HHF TR DI/Decrease in

imports

(D) fafrar 3T ReRI@RT &1/Exchange

rate stabilization
(D) » WD, AR a% Rediaur &

T fafy 781 B

« WP TH PR H PR 8 ol
SRR Al TR SR STl & |

o fae 4ol @ smafiia v & forg
fafa e Rerdiamor va gomet & |

o Taf*rT S <1 SrerT—arerT garall
I e DI BN B |

« I8 R IAK D I AR FgerT
Pl AT Bl & |

- g8 fafa <= fgd fava gg &
915 e gS9 YUl &% Sgave
Jq I T

ST I 3 5 s B g ?

Who is benefited during money inflation ?
(A) YeHERT ®1/Pensioner

(B) 9T ®I/Borrower

(C) FOTGT BY/Lender

(D) Saaddt ®1/Saver

35.

36.

36.

37.

(B) * {31 THIRT A 0N I &A1 Bl 5 |

« ST TWHIT 98 X Bl § o )
PR B I R B

o FST I & YRUTHERY I3l
P I WR W Jheg ol 5

« e ART H S aTell Wi,
PYAR YIS g G201 &Ah oI
AP & |

o I SIS & 9T W gig B 9 B
PR T H ST DI AT DIDT
g I & R a1 Thif S
EASISIES

TR el Rigra & e Md &
T4 W AIET YRl B PR B
< Bl Yol GYR Bel SIe ?

According to Hockscher Ohlin theory of

factor abundance in terms of units price,
when a country will be called capital

abundant ?

Pe| [ R Pl [ R
(A) P ). P B(B) ), \P),

L L
© ). P B(D) ), \P),

(C) + TFaR—3ifer Rigid Teb SioRTsera

IR Rigia 1

- 39 g & IgaR Sed,
fafrsEiamRur Jer geEl # R &
< &1y fraRke 7@ B

. 39 Rigid & e <1 el 7 B
ST B—
e w9 H, 9T S o |

« & Rigla A=y et aRaer 4
RIS AR BT MR T
B Bl GIT BT B |

. 39 faga & don @ gof i
HE<qqUl e & 9fed ' Ul
FHAr GOl o T ¥

forifred @1 faxRremy fear Rigra @
YT BRAT S ?
Which theory is examined by Leontick

Paradox ?

(A) STTER ANTG &1 RIgI=T/Opportunity
costs theory

(B) TAATHS ATTd BT FagT=d/
Comparative costs theory

(C) sFR—3iefer™ RigT=1/Hackscher-
Ohlin theory

(D) 79 & PIS 7&1/None of these



SITE

38.

38.

39.

39.

(C) » ferifes @ faRIeN¥ N gaR—
SMefer Rigia o1 efeaae &l
Bl
o gifren formifred @ sredfafa #
$Tgc—3TSeYe favel T &l SiH
P&l I B
o forafred o Y& YR fasm R
B B oTg Y ST Il B
P BA B DI TP ORI T
B
. aifell fadifed Wil 4a &
SR 3refeme & |
R b1 3ff~TH JaasrT Jro -
The last five year plan of India was :
(A) 9RE4T/12th
(B) WR&di/13th
(C) drazdi/ 14t
(D) STda § | @Is Tel/None of the

above
(A) + ARG B A Jgasi o
IREAT YT Arer o |
2012 - 2017 oI |
* 39 A BT W W | T
YD TN faBRT” BT o |
« 9RA H TSR I Bl YBIAT
|9 1951 1 BT TE |
o T ATSTHT WRA ST
B RIS &1 YR & T
SAMYR & |
o Y AT SR AR A minT
g1 fasfia fawam T orr |
SuTene Hicd R I |
“RIR—TH TS fIYg A g1 51" I8
B T & —

“Trade-cycle is a purely monetary
phenomenon.” This statement balong to :

(A) T3, I?I"l/A. C. Pigou

(B) 3R, Wi &S/R. G. Hawtrey

(C) S griiex/J. Schumpeter

(D) o1. 9. &=1/J. M. Keynes

(B) » "SR =% TP A Aforep T
& YT HUT AR 1. TS gRI
T o |

« T/ 9] & AR, 7l
¥ ffh BATUT AHINTE BTl
B S N ¥ § RN e 4
NI ETT: G3T B AIGTS H AT
b ST Feber B |

« Ha1 gRHTer Rigia 4 g1 fea
T o |

« T ERI ISR RIGTT BT I
o T o |
DT ATBYT IR T |

40. IRPR ERT SRV G raer wxeg

e # Aftafera el fbar s wife —

Transfer payments by the government are

not included in the Net Domestic Product

(NDP) because :

(A) TE AT &I IRBGR §RT Y&
JUER B &/ These are gifts from the
government to the recipients

(B) T& AT} &t yuet &1 B &/ They
are direct income to the recipients

(C) Saa WMl A R a1 & forg
JEST Ta HTd B PIE T
IcqTeT @l ®/No corresponding

production goods and services has
in place to match such payments

(D) ST AT § RETG F¥99 8/ There
may be leakages in the payments

40. (C) *» IRPR &R F<RUT YA +aed

ERe] SATE A AT el o
AT AT S AT Dl SRS
PR D TTY axgell vd araii
P T STe T8 ¥

o T <9 B Wbel BRT] SR
| I S P Yol RGN R T
B &l "M TR fHaet <9 Sars
TS BT B |

« Jebel BRT S U Srefegavel B
i Yae o1 U giamT A
8l
< B A TR SATE I T
FRAT B |

« T o <reT W <@ 9 Ya1 B Al
[ FHET AR HaTai B HeT I,
(FT¥) PGPS BRT], IR PBad
gl

41. I SYR R = AT IoAg =1 H

i i3 1 @ T B —
If borrowings and other liabilities is added
to the budgetary deficit, we get :

(A) WA =|1el/Primary deficit
(B) ST B1eT/Fiscal deficit
(C) YSINTa ©Ter/Capital deficit
(D) ¥ ®1el/Revenue deficit

41. (B) » I SYR AR 3T ITAIY SIS

e ¥ s ¥ IR a1 ot
HIeT YT 81 & |

« PR D FoT FATS qA BA T
% AR DI ST ST Bal STl
T

- 3T B ORI = R = B
SERAT & SR BT YIAHG el
FEd & |

o U9 IRPR GRATRI Ef}ﬁ'qﬁn
SN— foeme, srRuder enfe &
fafor § o1 IR & @ B
oI =g Fed S |

« X1 goTe R ST 3T 3R
R B R T W9 o @
T &, I FIfId SoTe Fad & |

« STRIE TS BT TOMT SHedT &
Yfyera & o | B o B

42, ST TYb —

An optimum tariff :
(A) MR IR H GIR FaT1 8/Improves
the terms of trade

(B) IR ¥ret Bl ReR ¥l &/Keeps the
terms of trade constant

(C) IR 9Tt BT BH BHRT &/ Lowers the
terms of trade

(D) 3 & HAT B WX B T 8/

Reduces the country's welfare level

42. (A) » T YYD AMUR I A GEIR

TRAT B
« WP Th PR & Ol SR
YR H AR IR 5% b AT
SIci

« I 98 YYD & o fHl qW B
BT Bl AfFHTH I, STH
TP FHEEIl & |

. U1 WIS B SER, I B
2T Y AUR H Reafa 7 21, @
Ig Fel Y NP B 3qT

BT A FIR PR Tl 51”7

« 1. fheaeR 71 s UIed @

TR A9 I e e fe & -

1
T.= —
el

TR | 7



43. @& AN 9% (AD) URF BT & —

43.

44.

44.

45.

Aggregate Demand (AD) curve starts
from :
(A) 7 &g A/ The origin
(B) 9t f&=g & =ird A/Point below the
origin
(C) 71 fi=g & R A/Point above the
origin
(D) S ¥ BIS 7T81/None of these
(C) + A | 9% A g & SR A
URF B B |
« A |1 9% B 3 99 9
TR A @ IR B B AN A
AferenT o1 NS w9 o AT 9%
P 5 |
- Rt e g1 g b T B
AT HEATH B |
« HITT qIferpT Th AT Y W AT
SuHRs gR1 e W |
el g & T R el
TR P T A B AN D IR A
AR 2 |

SFAR—3IEfAT B AR A= <= &
g AR BT BROT BT B—
According to Hecksher-Ohlin in cause of
trade between countries is :
(A) 9T geMd/Demand conditions
(B) A1eF \¥—<1/Factor abundance
(C) T%N®/ Technique
(D) X< e/ Test pattern
(B) + TaER — 3Mefer & orgaR, faft=
TN B ST RATIR BT BRI A
T B B
IR Rigia &
faRTsCImRuT T yeEl # <R &
< &1 W ek 7@ B
. Iz Rigra am |ger aRawr 4
SRS TR BT 3R T
B DI TIST BRT B |
- 39 g & o0 @1 qof i
He@qul TE ¥, dfed I8 Ul
FHHAR! gl 1 AR B |
el avg @1 A avg 99 el oI ©
S 3 gH1g FreferRad § & BT § —

A commodity is said to be a Griffin
commodity when the income effect
occurs in which of the following :

8 | AGRAWAL =XAMCART

45.

46.

46.

(A) RS AR FfoReITT g9a 7 21feres/
Positive and is greater than the
substitutions effect

(B) YR gHEG & SR1E/Equal to
substitution effect

(C) Yfreemg= 4+1d | &H/Less than the
substitutions effect

(D) TS TN TR YHIG 3 31feras/

Negative and is greater than the
substitution effect
(A) » T a%g 1 T a%g I Pal
ST & STe 3T J1a &S 3R
RO 991d | SAfE® B B |
« FiffeeT g S TRy R B
o Pt aegall IR M= | @
% g 78 B B
« Ot aegy 9 B & R ra
TG B GIY A §¢ Sl & 92
BRI TS & A1 AN T SR ¢ |
« 39 RigTa o1 gfares Jfae it
&1 fban T o |
R & FFAR, AT STHRT YgiT a1
87
What is marginal consumption by
definition ?

A Aya N

B A—Ca%em—sw/ 1
(B) AS equals AS

C
© Yd P IRIER/ equals Yd

S
D) — & X6}, 1
D) 34 /equals Yd

(A) » IRA & TR AW STHM

AC
m @ IRIER BT & |

« I SUHIT YgRI 98 AP & S
R SUHRT BT Teh H&ATHD qIH
T FRAT B |

« 3 ¥ YW gig BN IR SUEAT
T gl BN & 98 I STHRT
FEAT B |

o AT SUART YgRT o H ghg
PT 98 IFUN & oIl STHNT R G
fopa T &

o AT SUHRT GgRT o W IRacH
B A SUERT H B dTel SR B
U B |

47. g U% Rfy &, ofef .} —

47.

48.

Equilibrium is a condition where :
(A) T SUHIERT SIdHad A<Ific ur<

Eaall %/ A consumer gets maximum
satisfaction

(B) Ve ST SMeeheTd olH YIad el
¥/ A producer gets maximum profit

(C) TP B Sifee IdTeT U<
%/ A firm gets maximum output
(D) Sudad M/ All of the above
(D) » 9= TH RAfd & W&l R TH
YA AfHad dfee g
PR & |
o 39 Rf & Sy, Th SE®
AfYBTH ATH YT BRT & |
. 39 Rafd & v w6 aftreaH
I Y Rl B |
3R oMt M1 ST H A
& B
IR, BRI srefemesN form
IR GRT o 721 |

TR TN RIgT=d A dxerar Siet &l
Reorfa sofar s —

In the Liquidity Preference theory, the
situation of liquidity trap shows :

(A) T N AT BT 955 T Araeiiet B &/
Demand for money curve is perfectly
elastic

(B) g1 &1 A &1 9% qUI Jaraeid

BIaT &/Demand for money curve is
perfectly inelastic

(C) 931 &1 gff 31 9% qui et e
¥/Supply of money curve is perfectly
elastic

(D) 93T 1 91T =4&1 I gfi/Demand of
Money = Demand of Supply

48. (A) » TR T I # AR

STTer o1 Rerfay gwien & 6 g3
| 1 9% 01 Araeie el 8 |

« TP g1 BN AT BT AR TN
Rigia e ST B |

* 3N SMAYRON BT HITLH S HTS
DT g1 faad foar 1 erm|

39 JAYRIT H HE B AR,
"I 98 BT © Si b €9 Bl
SThg oY H X B 3201 AR 9T
THE B AR H OSRIEN efud
FRAT S




49.

49.

50.

50.

c P D NG & AR, &S
&1 FeiRa e g1

AHA TR IATE (GNP) T2 Yeg T
TeE (NNP) & &g 3% 2T 8—

The difference between Gross National
Product (GNP) and Net National Product
(NNP) is due to :

(A) fa2elT 9 g o & BRUI/Net income

from abroad
(B) 39™e BR B BRUT/Indirect tax
(C) forarae =9 & HRUT/Depreciation
charges
(D) IRBRI TS & BRUT/Government
subsidies
(C) » Hohel NS SIS T GG T
SR & S forRITae &g & HIROT
IR BT & |
« TH Y H 50 9 A SR g
BN EIREREIRICRIIEC R kel
b NS ST Bad & |
.+ FHA TE AR H ¥ A g
P HCH W Yg TT SATE I
BT B
- g TN SAE UF Seed & o
TP T R B ST YT BHR
Y UM B |
. Sefd P BRe S A facel &
ISl g 3T BT BRD A WA
BT & N SN Y T SIS FEl
ST & |

e <= ERT ST Yob AT S IR S
ENEISECIESICIICCE I

When a country imposes an import duty
then the consumer savings of the country :

(A) 9N ¥/Increases
(B) et &/Decreases
(C) 3mRafid/No change
(D) SWRIaT H ¥ IS & /None of the
above
(B) * TS ¥ §RT AT Yo TR ST
TR IG A ST B =
T B
. ST Yoob A1 AT Yoo oy &
A Yo S T | 9 S &
. I YeH TP YBR B IIE
IR E
« WRA H IR W S g8 MR
TGS W W IR T B,
ST Yo HE ¢ |

51.

51.

52.

52.

« A WRIEH WIRA H ST
IR IR AT I |

« U9 NG Yo I & q9 ATA
B DT 96 Sl & TIPS BRI
USRI & A Tl B

wMT YIfd @rer (HDR) § fr oy &
ifTe FeIfeRd A9 (GEM) &1 3R+ foban
TP

The Gender Empowerment Measure

(GEM) was introduced in Human
Development Report from the year :

(A) 1975 (B) 1990
(C) 1994 (D) 1995
(D) * HI9E YA SRAT H 1995 ¥ i
SRR AT BT SR T T B |
g Sl A9 fae™ & IR W )
T BT SUIRT HRA H SGART o
S B |
Sirge g, Riem W=, Sirerdr
o 39 GIDID ¥ B <2 1 fapfea
7 famrreiier BT ga gotd & |
- #fgar Fefoaayer Surg AT
AT BT A & forg =T T
Th LEADS ¢ |
o G fapre aDih BT dae Riar
T 9T I omT B |
P A FOINTS AR BT TR Bl
IRAT AT {5 g § B P
Which of the following book by Keynes
interpret the concept of inflational Gap ?

(A) SFRa 28R1/General Theory

(B) 8% T U ®R & aR/How to Pay for
the War

(C) T I 3iTh e g9/ The Battle of
Bretton Woods
(D) S ¥ BIE & /None of these
(B) + T I THIIED SR Dl ATERUT
T B8 g U BR & IR’ THD
IId H & T
« BT D ATaD S fageror
IR ‘SR RN S J&ID
LACUR
o P T 3T ISR RigTd &
TR’ 39 gRIeh SR 28R
3T greArgRue’ § b 7 & |
B gRaed SRel AR 3%
SEAIIRT, SUCRRT UUS FHI TP

TR ¥ B B |

53.

53.

54.

54.

U T & HeRawyd Bl & —
Imposition of tariff leads to :
(A) FTd & i 9 BT TN B/ Decrease
in prices of exports
(B) 9RTal & HeAl A FH o B/
Decrease in prices of imports
© ﬁ'ﬂﬁiﬁwﬁqﬁé@?‘ﬁ%ﬂncrease
in prices of exports
(D) 3T & 1 H gl BNl &/Increase
in prices of imports
(C) + YYD M & Thereawey fafdi &
A1 # gfg B ¢ |
o HERIA: HRA ¥ YYeb TR oI
Tt ST IR TR S § |
* T9 ST Yoo TG & T AT bl
P I IR & |
. IR PP UH YHR B IIE
PR B |
.« JYH SRR IR H S
S Al U &R & O 5% T5
AT ST B |

. UYeh TR ST B &M D
SfePITT F TFIT I ¢ |
B = O 91 o T 7199 b1 TTefd Saxm
&7
‘Which one among the following law given

by J. B. Say is proved false by economist
Keynes ?

(A) TSR &1 f99%/Law of market

(B) Af1—gftf &1 719 /Law of demand and
supply

(C) arfefd weamur &1 a9 /Law of

economic welfare

(D) g&1 9fRHATT &1 RegT=i/Principles of
quantity money
(A) » FTAN. . D IR & 8
P A AT fa B

o O EL 9 A U §HP TS A
SHHINE Ulfeed’ H IR A
a9 @1 wfare g1

¢ 9.9 B TR FREGER, 9i)d
ST /AT BT T I PR B

o 9L D PR, o srgura 7
IR el A1 Tl &, ST SIgUd |
B SUET B G B BT Af
3R AT f g A1 Hedl B

o 1. 1. B IR 9 39 AT
W uiRa B 6 aoR 7 qof
gfNfrar arE o B

o 9. §. W BT IOIR R STEdre
# & A Bl ¥ |

TR | 9



55.

56h

56.

56.

57.

10

frfafed 3 4 F—a1 “AMe faer
HaHH" (HDI) T TeH T8 & ?
Which one of the following is not a

component of “Human Development
Index” ?

(A) SIa= g/ Life expectancy
(B) Ui =afdrT 31/ Per capita income
(C) Rrg 9 =X/Infant mortality rate
(D) &R <X/ Literacy rate
(C) + RIg HY =R 7d faebry erbied
P HCH ol ¢ |
&R &% Ha fdBr e
T UCH ¢
& 1 AME I & AR W™ W)
<R PT AV B A STANT fawan
S B |
o 39 GIDP 3 B <71 1 Al
7 fapreRiret BT U Ferd 5 |
* 4 fIpI ahie bl qae et
o Ui =f o 9 B
91 & A -1 IS AT B
JUFRYT Tl & 7
Which of the following is not the tool of
fiscal policy ?
(A) soTe FF=dT AT/ Budgetary policy
(B) ﬂﬁ'atﬁ Y /Pump-priming spending
(C) BRYUT AIfT/ Taxation policy
(D) §& TR—ftT/Bank rate policy
(D) » % X T ISTBE AT BT
JUFRYT el ¢ |
o IS AT BT T SIS
PRI & |
goic ®Ie, AR\ SR Eed
YeE | HETE Al STy
T P € |
. T DY ffi Rl
TR R AR T A AT AP
ToTeq A |
o SRR Y ARBR BT A
T T T IYE b & |
7 & 9 D1 B GG Bl A TE
s7?

Which of the following is not a measure
of central tendency ?

(A) fo<R/ The range
(B) 9fsss/ The mode

| AGRAWAL =XAMCART

(C) wf¥F®1/ The median
(D) AR H1eT/ The mean

57. (C) « fOIR & F= YaRy & W

T

TR YR S A BT FHEd © ol
& T sl o Ui o
B R qA B Th qE Bl
WY B AU I I Dl
Bfod, B B YGRT B s GgRa
PRl I B |

« BRI YIRT B TE A AR
Ay, AT T T TgeAd B S

« I ANEG JEMNG B ETR,
B YgRT BT A 98 A T Sl
BT B |

58. JoR & TG Bl T & —

Euler's theorem is related to :

(A) F&T THIRT A/ Money inflation
(B) faa=or 3/ Distribution

(C) &R YUl |/ Taxation

(D) ST |/ Population

58. (C) + IR & THT PT FeY fIROT A B |

YUTER & 3 d U YHT & |

* T W I HHC R T A e
Tl

o 39 GHY BT GATT §S1 ©d Bl AR
g ¥ o S B

* SAET FHRIE H AR Bl FAIDROT
M & 5 A sRS JAaE
T AT SATET @ Sl &
ERERE

39 TY B SRR |9 1736
oI &1S e &1 fopa T |

59. TEReR & 3faAR AN NI & 34K,

quf fafRrEiaer e B ¥ o —

According to opportunity conclusions of

Haberler, full specialisation occur when :

(A) I<UTES | 1991 9%, gfgar
IR AT & 3 Al &/ The
production possibility of satisfies
increasing opportunity cost

(B) SEH & AIEAT H RIAE Yfiwa
BT ¥/ There are diminishing return
the factor of production

(C) ST FHIET ah, ReR R AT
B g Bl &/The production

possibility of satisfies constant
opportunity cost

(D) 379 | BI$ 778/ None of these

59. (C) * TEROR & IMAWR NG NG &

AR, SHTE HHET I ReR
IR AN B =TI Bl & |

« SreferaRer I gfte 3 ol vap avg
o1 fTRerd AT A STaRIR ART
T A BN T Y T AT Bl
T
BRI fdPpey qauR & T &I
e P faRy &l ey e
IR AT & |

* JTHR AN a1 JHR Bl BT o—
T AN Ua fAfd ArTd |

60. JTHAS AN RIgT P 3R AT

& w9 ¥ b ufaeenfoq fsar ?

Opportunity cost version of comparative
cost theory was introduced by :

(A) TFIR—3MEfT/Heckscher-Ohlin
(B) o. 79 fAer/). S. Mill

(C) #Teier/Marshall

(D) ¥ReR/Haberler

60. (D) + JITHS AN R Pl 3FAAR

AN Rigid & ®9 H TaReR °
g foar |

o JAIHD NI RigTd 1 gfrara
3fre Repret g1 fomam a7 o |

« oI AT 37T e & fob <@
S 8 G B SR I
T P g A P AN TR
PR FHAT &, g S9 aHl H 4
T Bl SAET PR H JoTcdD
N AP &, T T IR D
IAET | JATHSD AT FH & |
A H SRSl b ST AN |
IR TR SEIRT 51
IR BT IR & I

61. IS T 3@ &1 FR=R iR fhds

ERT ST RIS ?

Continuous substitutability of capital and
labour is shown by ?

(A) fasT STa FHT@ 9%/ Smooth

convex isoquant curve
(B) fehs T ah/Kinked isoquant
curve

(C) XRgw \HIAE I/ Linear isoquant

curve

(D) S7ade FHdTE ag%/Concave isoquant
curve



61. (C) » IS v =M &1 FRaR femad

IRgDH FAIAIE I | ST ST
Bl

« g FHIAE TP B TS g
B4 & TP FAM SGT WX B
qrT B

« IRR I AERIE w9 A fHar T
B 5 HEe & |

» TRren # fraer &1 A9 ol @1 g5
JI AT T E |

- Yol ve 98 gRIRT & R 3
TR AR ST & |

62. faT IR BT ST B FRAT B ?

Finance Commission is constitutted by ?
(A) T w31/ Ministry of Finance

(B) TEMHAT/Prime Minister

(C) <Tsgufl/President

(D) FERIEIHR/ Accountant General

62. (C) » fa<T 3MANT BT &7 TSgUfy HRar

& foren 9ui srgeoR 280 % s
TR

o WRAY foxT START B FAGAT 22
AR, 1951 BT B TE |

o TP AT BT ST ARG B
PRI ARBR UG 5T IRBRI B
a1 o el 1 oI xe
ofr |

« 31 amarT @1 ey 7% faeeh
H ¥orfid Bl

o GO H I ST & STeue UH.
B, RiE 1

SR

63. M1 STURT YgRT (MPC) 1 8 &1 &

SERGISSEECERCIN I R
What is the value of MPC when the
marginal saving variable is zero ?

(A) i (T®)/i (One)

(B) o (I)/o (Zero)

(C) oo (8=T)/ 0o (Infinite)

(D) ST ¥ PIg 7181 /None of these

63. (A) » IHEI SUHTT YgRi BN oI Th

BT & T AT S IR I
B B

« AT SYHRT Y9l 98 A9S ©
ST YR SUHA Pl Th TATHD
A Y& R & |

64.

64.

65.

o AT SYHN GG S H gl BT
T8 U & , S SU9RT R T
[EIAC ISR

« AT SYHIT YgRT 3 H gRaie
B | STYRT H B dTel SR &
KCINR
« SIS A ST I B S T
Gl SYAIRIT SAfErba el ¢ |
TR o™ & o1 g B
The headquarter of ADB is :
(A) 3R #/Cairo
(B) 2Rl §/Tokyo
(C) AT #/Manila
(D) 9% ¥/Dubai
(C) » TRrM o™ ¥ &1 g™
AT <91 & Avilen TR ¥ Rerq
Bl
- 39 IF B U 19 REwER,
1966 1 I TS |
« ST S N AR SFFBIT
Tl
.« U5 D FA AT DY AT 68
Bl
* WRJ SHH TP HRATH TG & |
* SN A ST YR A TS

Tq 3nfie e 1 ggm@r ST B |
frferas @1 e BT —
Match the following :
[A-I/List-1  FA—I/List-I1
a. &N Bl R L AR/
siferr Rigr=i/
Liquidity preference  Senior
theory of interest
b. <N H AN II. &=a/
g/
Abstinance theory Keynes
of interest
c. S P A 1. 99 919/
sferr Rigr=i/
Time preference BohmBawrk

theory of interest

d. = & eieas 1V, fher/
Rigr=i/

Austrain theory of Fisher

interest

65.

66.

66.

@e/Codes :
a b c d
A 1T I m IV
@ m 1 IV I
) 11 1 v 10
(D) Iv 1 111 1
(C) + =S HT TRl ARAN Rigid
PG GRT gfadTied fam 2 o |
o N B AT Rigid & gfiures
MR gRT fawan T |
- S BT GHY S Rigra @
gfte fheR e TR g1RT &l
T |
. SIo] BT SRS RigTa BT R
I IG% AHE IS GRT DT
T |
IR ATEIdRl S~ B & o9 —
Internal economies arise when :
(A) BF #@ fawo o A 8/Firm
applies division of labouring

(B) SWIEH B SeUTET BRI &/Producer
produces less

(C) TRPR FSD SYeTey BRI &/Roads
are provided by government
(D) B T a7 bl SedTa Bl &/ Firm
produces a single article
(A) » 3R Faeagar) SO~ B &
9 DI B 5 A9TeT AT R
Bl
. 99 fRY 95 FF B BB
THETT ghel H diedpy & AN
BT PR B TR ATT—3NET AT
FuiRa fod o & @ s sm
o Fad B |
o o TSt 1 Rigia geaa: faen
TS PRI TR AN BT 5
o 5 IO & WA W STed
TG W I 3 H ghg BN B
o 5 A9 BT ST 3R ST
TR e g9 Tl fom T, ST
IR G § BRI PRAT FHT B
ST & |

67. AP g & TTg A R A& ?

What is true for Giffen good ?

(A) 99 gfawenys y#19/Strong
substitution effect

(B) Y& €HTHE ATT YHIE/Strong
positive income effect

(C) 991 HUIMIHE 3T YHTT/Strong
negative income effect

(D) $T9 9 BIS & /None of these
TR | 11



67. (B) « fifths a¥qsi & |eg § UgaA

68.

68.

69.

69.

12

TG S YHIT el & |
- 581 o @1 M 9% 79 Pal
ST & ST SR YH7d EHISTD T2
JRRERITIT Y19 ¥ SHf¥e 8 & |
| | B
« Mft axgell &R FM=Ia: [ &
9 AR e B B |
« Mft 9vgd 9 B & RS ra
TG IR AT 9 STl & AT B
Hed IR AN €€ I B |
7§ 4 PH-T1 Th ISTh A 6t
I T § ?
Which of the following is not objective
of fiscal policy ?

(A) anf¥f@ gfeg/Economic growth
(B) enfdie ReRdr/Economic stability
(C) IR & WR H Tfmaddm T/
Maximisation of employment level
(D) fa<iry wermsil &1 faf =/ Regulating
of financial institutions
(D) + faxirar w=ene o1 fafgas v
TP AT T ¥ el &
o ST AT BT T IIHUT
PRI & |
« ISP A AR aREsel
TR IR AR T RGN o
J Fafa AT B
¥ et et It Aifd
FEAR B |
. ofYfe gfg den anfdfe Rerar
ISR AT B S e B
« ISR & TR A AIHAABRT
ISR AT B ST B
IR, T, Ao dHfa 7 59 &5 |
wrfrerd RIwRer & ?
R. N. Malhotra Committee gave
recommendations in the field of ?

(A) B &=/ Agricultural sector

(B) €11 &1/Insurance sector

(C) %01 &N/ Sick industries

(D) Sf3=T &1/Banking sector

(B) * 3R, TH. HeR |ffa = 9 &3
J arfad RIeIReT & &1 TR,

TH. Teasl 9RAT Rod 96 &
TR XS T

| AGRAWAL =XAMCART

70 oo, @ Higel § Geh fagha gfigwal

70.

71.

71.

- Rrerme afafa & RweiRer
NABARD S &1 RIqAT Bl T8
S B &5 & e & forg @red
TS o |

« RT ¥ BT & B IR W
TR ARy 1 T far T
o |

o YRT A S0 SEE & e foary
IfAfY @1 T fobam T o |

¢ SR T HeRrRI A Bl 73T H
1993 ¥ fopam 1 orr |

@ I BT ReR AT B |

Each seller assumes his rivals production
is constant in the model of ............. .

(A) 3T/ Cournol
(B) voigel/Edgeworth
(C) sR¢S/Bertrand
(D) S & PTg Tal/None of these
(A« T B ATed 4 JAD fagan
sl & ST B RR A
Bl
- ¥ 1938 F emTed @Al A
FAMIBR B ST DA HERoT
& TN BT I D IR ol |
. EAIRBR S IR RARY BT Fea
& R et 31 fagar 2 1
S YfgTeT §IRT Sere A A
YR IR Bl 3TN el BRAT & |
. I P ACA Th I Al &
T SIFTFY &RoN A BAT B
|1 YA A TS T
R AL, Hfee Ao B SrfifRerd
e S arer wfrerd ¥ —

Real wage is more returns than monetary
wage :

(A) g9 AP /Free house

(B) o faferean/Free treatment

(C) o=di &I Jud &7/ Free education for
children

(D) S9gad |/ All of the above
(D) + U AP INAADH FoT, Wi
TG & SIfiRer fan S e
R &1
« g FIfe T S=a Bl Ju
e, arafds o, Afs®
T & SIfiRer fan S e
TR &1

72.

72.

73.

73.

. ARAIES AOIGY! I8 A9 & Sl
qIfa & oy qHRIfTa 6l
S & |

» ool feRt g1 B M BRA D
EECEILENEEICIC CRECTK
S B N AT &, T TG P
gl

o 3T D W9 H SADT DI Sl I
[ERISISIEASRE I ECNERCE
S & |

o HOIGRI I U Gfdfe, i wuer
1 IR B B TR B SN B

Treg qET S’ e Rigr @
e & ?

Word ‘Potential Surprise’ is related to
which of the thoery ?

(A) T fAgT<1/Rent theory
(B) =157 R1gT=/Interest theory
(C) #oTgRY RegT=i/Wage theory
(D) @ RIgr=i/Profit theory
(D) + Te HFI IrAFT TN RIgTd
9 foram m B |
o 1. SR ERT a9 BT A
RIgTa 1 gloTfea foam T |
o % ST, "% STHdbdl D 98
ALY & Sl SN SAD! farere At
% HROT YT Bl & I
« 39 RIGIT & SIJ9R 5/ Td S
H quT FHIAT Bk 8 |
o 1. 9EA1 §RT, ‘W AREad
JETHdT B SR B
« 91, AT §RT <9 BT AT T GRS
1 Rigrd fam a1 81
q. P R, .19 T § —
V. K. R. V. Rao associated with :
(A) fa=T 8T™1T/Finance commission
(B) Tgadfg A1/ The five year plan
(C) 1T 31mg/National income
(D) | = &/All are the correct
(C) » V.K.R.V.T@ SR ST & Fafera
gl
« 4P, IR, Q. @ B G AH
ST BRI AT IRERTST X1 2T
S {3 T AR STefRIrey o |
o YRA A ST P BRI §AD BT
% IRT SeerE T B




74.

74.

75.

75k

« {09 omm v waue e
T O ST HEaE o g9 ¥,
SHS & IR A9 G 531 Dl
faxira Reeferd o1 Heae R 8 |

o U9 g IRGR gRT 59 P e
[ D AN B fow e @ik
e fae & fo goend
BRAT TIIRT TSI BTl & |

e Tl g I HT B i B
For complementary goods, the cross
elasticity of demand will be :
(A) T[F/Zero
(B) 3=/Infinity
(C) &I =g =T ¥ &H/Positive
but less than infinity
(D) %UTIcHP/ Negative
(D) + TS IR B 10 oMy /T &
S FUMES Bl & |
AQ, P,
CARQ AT B TSN B A
BT 8
o 37efEIRE | A/ PN ST A T
@ STaTEE! Pl AT B |
o TR 9%g 1 H1T 3 37 aTer gREH
BT AT B A Fel AT & |
« AN BT A BT START TG
el B IR Y B R
T S 2 |
o TSI Tl &1 yarT iy seea
uftf & fore wmer—rer faan e &
RSP IV HEAN ¢ |
QTR # II B FEAT I B ¥
=i —
In economics problem of choice arises
because :

(A) SMaeTEHaIsl B YHa A 3MaeTd
BN &/Needs are urgent in nature

(B) HHTEN YHT Yol B §/Resources
are given by nature

(C) TeFl & Ipfeud ST B B/
Resources have alternative uses

(D) 1Ml TR ARBR BT AfYBHR BT

¥ /Resources are in government
possession

(C) + 3N H T B TR S~
SYART BT & |

« TG SYMTFAT BT IJ§ JITH

BT 5 a8 Siire—a—sifire

PRV SR () B Tl
2l
o YT D] I FHAT & 3N AT
P ST T | ST T bl AR
B AIfeTd w9 | M FHwT & |
* T AT B HRUT T FHIEA]
Pr e N T8 BF T AHd & |

76. HH AU A IR B & —

Total Quasi rent is equals :
(A) T ST — G AT
Total revenue — Total costs
(B) §1 M — Ha ReR A
Total revenue — Total fixed cost
(C) B 3TM — Gt IRacRIE AR
Total revenue — Total variable cost
(D) T ST/ AT
Total revenue/Total costs

76. (C) * T ST TR ‘Gl T — F

IR AN’ & a6 BT
Bl

* SN TN 1 RO &l FfdTas
<. At g1 o T B

o 37 AR, YA & IR 77
ERT §91¢ U S g | 9
fiRad o & forg e &
TS & Rr7ebt ot areueprer # Rex
&N B

o TP ERI AN M IE B
AT, B9 T & forg fopar T ¥
Si 13 A= gR1 ARIAT 92 3
SSTRT ¥ Yr BN ¥
ol AT A T

o 1. SR & AR, Fo Mg A
B Te—FG! AN B ST<IR DI
MY I Fed © |

77. T | PIH—1 UTHIOT ARG BT GRS

B T ® P
Which of the following is not an
institutional sources of rural curve ?

(A) WIHE N Tear arg afifear/
Primary Agricultural Curves Credit
Societies

(B) 4f1 fa®m I%/Land Development
Bank

(C) &3 IIT §a5/Regional Rural Bank
(D) =¥ §&</Indigenous Banker

77. (D) * T THR I ARG AT ATl

78

78

79

TE
- o1 3 SuSi & @ Ta
fawa &1 B FxA el wAfHE
ARl AR ARE FEdrd & |
- foci = fad & oM &
B FRl & |
o AR, FRAWTT TAT IR—RFTT
BN B
RetaR @R THIGR IR—HRITTT
P I 3N & |
- BN o &1 yg@ B TEh
afft ¥ |
WEBRI 9% Iffs UMV g &
A |
. DII—SNTAN SAET Hed Q = AL*KP
ReR TM & yfwer <, o9 —
Cobb-Douglas production function Q =

AL®KP will give constant result to scale,
when :

(A)at+p>1 B)at+p<l
(C) a+p=1 D) a-B=1
. (C) » BII—SHeE ST Had Q =
AL%KP ReR Yo & gfcrer <
S o+ B =18
o BII—SITAT ScUTEd, BT
JAIEH &l TS IR SrIfers w0
AT
« o 3R P YSH T S B
3rScye A BRi |
* 3 STE BT Heg HIGI DI Goll
PN IO B 4 B |
« T B SIER, FRAHS
Pl Ay fhfery fameds gRT
faefa fosam T er |
. . AGRE D IFAR, SR
Ted 98 WIfaftes §ey ¥ o I8
T BRAT © 1 AT B GAD
TaRI e g1 feberein Seara faban
TR
. feera & eeR wr fywfaftaa @t
BIAHHTG DTG —

Put the following in chronological on the
basis of development :

I. 90 &1 99 /Law of demand

1. goe AT fHgTd/Revealed
preference theory

R | 13



79.

80.

80.

14

I11. pHard ST Rigid/Indifference

curve theorem
IV. A AT SR &1 fgH/
Law of diminishing marginal
(A) LILIOLIV  (B) LIL 1V, III
(©) IVIILLII (D) LIV,IIILII
(D) « fIPmT & SMYR TR AIGLR AT 6
o — BT AT S9AIRT 6
a9 — e SyAfar Rigid
— Yabe AT Rigiad Heg T
o 9 TBgell P SRR IE@J g
TR g o bl T FIRAT SHB
AT Y g I B |
AT SR BN & I I8
A & 5 o9 & foddt avg o
TfeD SHTSAT BT STANT IR & 9N
B STRRR SH-AT & Y A
SUARTET A e S B
 Ype A Rigia & gfoaas
0. Fgead & R 39 |1 &
e RigTa o1 gfdra foar o |
qIg e Saauie Regd Tor)
f&. (MUDRA) ¥TRd & GETTAAT
R & URF 6 T8 ?
Micro Units Development Refinance

Agency Ltd. (MUDRA) was launched
by the Prime Minister of India on ?

(A) 8 3, 2015/8 April, 2015
(B) 8¢, 2015/8 May, 2015
(C) 8 3FTH, 2015/8 August, 2015
(D) 8 Ra=Ix, 2015/8 September, 2015
(A) » AP IS SqATC R
TSH=dl (MUDRA) ¥IRd &
Y2 gRT 8 3, 2015 &
YRE B TS |
+ MUDRA & &1 937 St & &
& ST LT J[&H AT g S
P o Q90T TR Bfegd B |
o 3 9 Pl AT SIDBI & 31N
EIRIERT
o 39 AT B T&d A IS B Bl
g SR Ry, freik AR TuT |
« 431 9% & Ted AT o |
ST & SRl dr grerfiddr
TR Pof XY ST |
o 3 Ao & qad K0T MR &g A
SforT E —
1. 989 (50,000), 2. 79 (5,00,000),
3. 799 (10,00,000)

| AGRAWAL =XAMCART

81. gAford I —

81.

82.

Match the following :

EA-1/List-1 EA—I1/List-I1

a. WM S I SR 3N g |
JREGEIT
(SuHRT )/

Relative income R.C.0.Mathews

Hypothesis of

consumption
b. ol &ie
FHRIG Aiedd
(Frarer e/
Capital stock

I o Sgoien |

James
adjustment Duesenburry
model of

investment

c. NAIRU/ T <. et |
Non Accelerating  G. Cassel
Inflation Rate of
Unemployment
(NAIRU)

d. oa e w9 1V, fiee Hiede |

Rigr=i/

Purchasing power Milton

parity theory Friedman
he/Codes :
a b ¢ d
(A)IV T 11 I
@ m I 1 1v
© 1 1 IV II
M 1 I I 1V
(C) « SUHRT FIS A& T GREGET
o fNgia &1 gfauss I+
oIl 1 T o |
o Fraer |9 9ol e qHreH
HiSel ol GRAT R 3. 1. 7y
BRI TR |
« NAIRU SRISFTRI & RigTa fAees
HISHT &IRT faam T e
« T IS e 1 RIgI S et
BRI fcrariad far |
+ NAIRU &1 1 79 ‘5 TaRAIeRIeT
ST YT AT FTHATHE B |
a1 <ol A T axgeli
BT A & B |
AT A FerTrHD 4 RigT= & gfidrae
T —
Propounder of comparative cost advantage
theory :

82.

83.

83.

84.

(A) ¥efeT/Marshall
(B) R@ref/Ricardo
(C) TsH 21/ Adam Smith
(D) o1. 7. /1. S. Mill
(B) * ARl H JocId a9 Rigid o
gfrares Reprel gR1 a1 T 5 |
« Rt & orfER, q1 <M & 99
SR AR Pl FHT T D
foTQ JETITHS AT ST oY =1
BT BT SIS & |
* JATHD ARTG Bl Ngia A=
ENIICIEINEE RS KIS ICE |
AN ¥ S UX SMenRd & |
- RoEl & IR, T8 ARG
IR BT YR & |
* IFRISERT TR AN GbR BT BIdl
T — g @R, JINE AR,
TEHIE TS|
o RIS FOR S AGATID
Tfafafeml o1 wef¥a s &
ey <1 1 Arfers ATl |
REI
IRA ¥ S glg b FE9 | DH-Al
9 A faure a9 & ?
Which is the ‘Year of great divide’ in the
history of population growth in India ?
(A) 1921 (B) 1951
(©) 1971 (D) 1991

(A) » 9RT H SEE gfg & I |
|9 1921 7&H a9 a9 8|

o S gfg R o & A e
&7 I g8 AT Bl DE ¢ |

o I D AFAR, a9 2100 ¥ WRA

faea o1 ey S1feres STTaE arer
BT

o AT BT SHawAT NgTd,
ST ¥ gl T SR g
H gfg @ w5 el @ @
HRAT B |

o ¥ Mg ¥ fdams, 1 e,
TR enfe SHEEn @ gfg &
TR BIROT & |
FfeIRad & 8l BIeteH BT SITd BIfTg—
BT BT SUHNT B
Y T TRBAT
ATe M UREGeHT
THISH b1 AR 3T TRETT

L b



Find out the correct chronologies of the
following :

1. Consumption function of Keynes
2. Life cycle hypothesis
3. Relative income hypothesis

4. Friedman's permanentincome
hypothesis

®e/Codes :
(A)4,2,1,3 (B) 2,1,3,4
(©) 1,3,4,2 (D) 3,4,2,1

84. (C) * &Y B Bl SUUNT BeT AT

b e o YR SR fthy
PISiT B TR 3R URBT
TT 3T H 3MY Th URDBA
TR B¢ |

« B D STER, BIS Ffdd N
o ST T ST BRI PR I
& 9T 98 $9D Uh HIT Bl AT
SUHNT | AT 8, SUHFT Herd
EZEGINIR

o 79 foRT fdT gRT S99 Shas-ash
TR 3 SUHN &R Tad ATER
1 TSI IHIT & T S™ Siaw-ah
YREHIT HEd & |

o AN A IRFBIT H IS IART
TR B b SUHNT AR T9d & forw
Teh ekl Bl GIocehIv] SN 3
¥ SR B Y H Siad B
A% & 3Mfdrep HafRa e 81

« HIGHT ERT T Y 98 ©
RTIehT PIS SUHIRTT ST+ FFIfRT
B EUU ST Y& §Y SUHI
B D B |

85. cel St g g3 Bl AR YR =l 5—

For speculative motive, demand of money
depends on :

(A) M & &R TR/ Level of income

(B) =TS &1 &% 9X/Rate of interest

(C) &1 &1 STl U/ Availability of
money

(D) EI-981 & ¥a% UX/Standard of
living

85. (B) « Wcal Se¥d g gl Pl A1 S

P IR R AR F=A 5

* YT b1 Hea /T BT L= f{r) &R
@ a1 S B |
T faar T B

* T8 H A D T D BU H G
S P | FERE B

86.

86.

87.

87.

« 51 aRAT g B S
SRS HRlel Te G &
TR B P Pal T & |
* ST BT IR I G WhIf TR
R =ar & S 5 o ReEd B
1 5§ A1 RS T diired &
foTe Sugaa T8 ® ?

Which of the following factor is not

appropriate regarding export promotion ?

(A) foeg IR 7 Fia o e agm
& foTU/To increase share of export
world market

(B) ST &1 fa<T a=em &=+ & ot/ To

financing of imports

(C) =R IR ¥ TGl B1 MYl s
@ forg/To increase supply of goods
home market

(D) Tt ol &1 @R & foTu/ To pay
off external loan
(C) « RS IR # RIS I YRS
M dTel BRS Al dicdaed &
o Sugaa 78 B |
o TR T R 5T 9%g &1 R
BT & S IO FEd © |
o YR A IO IR SERT FTer
& HEIH | AT @1 gerar < |
* AR TH HEaqU! AHIRTS Heel
Bl
« Ui YRR 9ToTR, SR 1 8
TP fo B
« Ui YRR ITeIR &7 @ Rerfa
¥ Rt faioan waey SarE ¥ |

2 gEgall X 3R Y & drg WUl &% Bl
fra wu & IR fopar S & ?
Marginal rate of transformation between
two goods X and Y is defined as ?

MC
A) MRTy y = —X
(A) XY T Mo

Y

(B) MRTy , =MRS,
(C) MRTyy =MRSyy = Px
3 > PY
(D) 379 ¥ BIS 7T&i/None of the above
(A) » AT X 3R Y & I Hr=IRoT
TP [MRTXY = MCX} ERG
’ MCy

¥ gR9IfST fham Sirar & |
o PURUT SX S-H1F9 § YA B
el U 9% & |

o HUMIRY &Y fHel davISe &
ATTIDT BT Yfererd B ¥ |

o DN SEH oA THT, ATHT
HRUT X SMTd R B
HEBA BT ol & |

* HUTIRUI Bl I T §—PIHR
ST # b ST ¥

88. I8 goic W ST -3 AR T

IR §, S e o—

The budget in which its tax revenue and
expenditure is equal It is called :

(A) e §wic/Surplus budget

(B) 3rF=gfeTd ¥5ic/Unbalanced budget
(C) |JfeTa suic/Balanced budget

(D) 3 & &g &/None of these

88. (C) * T& ToTc NI Sl HR—3 3R

Y RSN B, W Fferd dore
PEd B |

o O GXBR Bl Nod AT 3R
oG () FHE B d9
AT SoIC HEAT ¢ |

o foRAY o T arefeaen o g B
IRt & forw sore @1 Ao e
ST B |

o RA ¥ gorc AT gk fa
9 gR1 S—RIasR W ge
PR & STl & |

« 399 foIY Sole AgheR SN faa
ST B

o O AXGBR DI O I B aredl
3 Bl gl IRBR b G I
Jfeep BT & 9 I8 AR Soie
FHEAT B |

89. TqH g1 b1 A1 foeres gRT Bl & 2

By which the broad money is measured
through ?

(A) M,
(©) M,

(B) M,
(D) M,

89. (C) + =AT9D HIT B! AT M, D &R BRIl

g

. aRAE Rod 9% qa1 @ gff B
ferrep AT < =R o1 H FebTrre
PR S

© M,;,M,,M,d M, dfcqes Al &
IR WY B

« M, 9 M, SgfEd o1 HEar & |

« M;d M, 9% q51 PN & |

« M, \HIdER & 17 HeRi wRa SR
A & STdfh M, 3974 HeRy 68
A B

TR | 15



90.

90.

91.

91.

92.

16

SUHIT DR A Bl RIBIReT &r o —
Consumption tax was recommended :
(A) T. TH. GEI/A. M. Khusro
(B) U. 3. A/A. K. Sen
(C) BIeSR/Kaldor
(D) o1. 3R f&a=d/J. R. Hicks
(C) » PSR AMH NARMEN gRT 34
SUHNT B AT DT RABIRET @
TS o |
* IR =P P ARAT PR &g T.
PSR 1 ¥eih FHRINH Rigrd
BT gfcrares o o |
. BleeR & Rigid § 99T IR s=a
TR gRET A TP W e
EEIGIR
. BleeR ® Rigra d Fawr Hig oma
P TR G ¥ |
o OO ST U TR SERa
e &1 ve Rigid 1
fagfaa—arT 9% fagid & ufiared f&a
arefeTEN g1 b T e ?

Principle of Kinked demand curve was
introduced by the economist called :

(A) BIeSR/Kaldor
(B) T¥ERfeT™/Chamberlin
(C) UTeT U9 roil/Paul M. Sweezy
(D) 399 | BIS &/ None of these
(C) » Tigfad—i o Rigid &1 yfadre
A, TH. el AE AR
BT o T B
. fag faa af71 I aRkeeyn
JAIHR # Hrd FgRer &
IRAT & BRaT o |
. figpfaa v 9% IReea I8
A & fob Sty fost AT
BT AT IRl |
. fagfaa ata @1 fagra
TEIET & SAUIIBR & 3T
DT gl B ARAT BRAT ¢ |
- fagfera wiT i Hd g1 31
T quf et e < B |
9 5 IR el TDIIRBR ol I
IR A ot gfrfia & @ agerd Rerfa
H Gl UHIAHIRE AT & drd ST BT
T —
When there is monopsony in labour
market and perfect competition in product
market, the monopsony exploitation in

the equilibrium situation is the difference
between :

| AGRAWAL =XAMCART

92.

93.

93.

94.

(A) I ST & o R AH
3/ VMP and MRP
(B) ST oI ST SR W oI
31/ ARP and MRP
(C) M HoTgYl IR 3T Ao/ MW
and AW
(D) AT AR IR HH=T AT
IAET/MW and MRP
(C) » V& %M 9K H Bl THITHR
AT TG IISTR 3 0T JiRARa 2,
A Fger Reifd H Bar ThiiersR
Q90T & S AT Hoig qe
CISCRINEUR IS M
* THIYBR Bl T INR B Reafay
BRI ST STl & |
o gIOR H YRR @1 erHre
THIHR Bl G R & |
« I8 BRI Sl Yo AfeRT §RT Uh 9§ H
FH-A-BH 183 o &1 & fad
DT & | AT AR Bl & |
« 3Nd M AFTa, S SfAd o
B FAT ¥ fA9IRTT B Ao
SUSIERS
RA H Celbrd 6 (ame | oH-
57
Which is the regulatory body of telecom
in India ?
(A) TRAI (B) SEBI
(C) HTML (D) BSNL
(A) * TRAI R H SAId™ Bl fHam™®
e B |
+ TRAI® IR M AR SRR
faferamres ifdreeor % |
« TRAI I A9 20 BRI, 1997
P R TRBR GRT BT T8 |
« TRAI &1 J=Te -8 feeell A
Red 2|
« TS & IOA feue €. o UH.
NI
« TRAI &1 & St¥d 9Rd A
TEAR R 201 &1 B |
1944 3 S g4 FRIe A 59 SRy
AT BT ST §aIT ?
Which international organisation was
formed at the Bretton Woods Conference
of 1944 ?
(A) faeg =R TS/ WTO
(B) fawa §&/World Bank

(C) SIaRTsg fasrRT we/IDA
(D) 379 ¥ BIS T8 /None of these

94. (B) » 1944 % scd g9 FWIe A favd

TP ORI STIRTSER T BT o7
Bo |

- 39 GO B MGG AR
W HYE T Afsd AR R
T & Y H ST ST 8

o 122G, 1944 TP 44 <=M &
Ry s w= e 3§ wfve g
|

« fIeq S o1 geeaTery aifiTed €.
A YT I RSP A R &1

- {999 GUR FTST BT AT
1995 ¥ & 7T T SHHT [T
e, Racorervs # Rerd 81

o ORISR AT e <l ema=T
24 TR, 1960 1 g8 A0 SHHT
JEITery aIRiTed €. 1. g, T4,
7. ¥ Rerd B

95. el IR & fhar awig &

Open market operations refers to :

(A) Rerd J& oife gfbear | rgRgfad
JBl FRT SUR 1/Borrowing by
scheduled banks from the RBI

(B) IR @1 gRT SEN 3R @R
Pl IYR 31/ Lending by scheduled
bank industry and trade

(C) Rerd & offr sea & RT TIRBN
9‘%’1‘\%@[ @B BT AR I/ Purchase

and sale of government securities by
the RBI

(D) ST &I T/ Deposit mobilisation

95. (C) * oI IR ol forard Rerd S 3ifes

sfoear & gR1 GReHNI yfayfad
B AR fIpy | G99 B |

o Gl IR IRATAT &7 &Y fel
A B fAfrafe ar R wxa
@& foTg T TR B

* gl SR & fopad g Aify b1
ST E |

. TR Rord da @ e
1 30T, 1935 BT &l 7S |

YT IP IR BT BT 95 B |

« R RSTd S o1 Jerer g
H Red ¥ |

o 39 9P P IAH ITEAE fRIDbI
TN B



96.

96.

97.

97.

S TSI STgUr S7eral iRed wiRka
IREFIRY ST B

Capital Adequacy Ratio (CAR) Capital to
Risk weighted Assets Ratio (CRAR) is :

il L

e e

Capital Fund

X
Risk weighted Assets

= X
BA qc\gfﬁ s

100

100

(B

Risk weighted Assets o
Capital Fund

c SReH AIRT Yol B=e 5
© e e TReRE

Risk weighted Capital Fund N
Risk weighted Assets

(D) ¥ & DTS T&l/None of the above

100

100

100

@ [wﬁmﬁ *“OO}
TSl waieqen srgura qen Siiked
ARG GRIFRT BT SN 8 |

+ Y8 X IR & B9 H G D
SR |

« RBI 921 BASEL; SRI— AM<S,
TS HRI ¢ |

o A AEF BT &5 | Ff B |

« I8 AHS I 1980 3 RacorRerws
@ SRIel e | Yo fHar T o |

« 379 TP RISt AHD B I TSI
e # o g |

S 1 &1 TRER AR H e arel A 5

The measurement is divide the series into
two equal parts :

(A) H189/Mean
(B) Hifeant/Median
(C) 98aT®h/Mode
(D) A1 fa@et™/Mean deviation
(B) + ity SOl A1 | SRIER A H
e aTel A1 B |
. AT U g8 HE B S & T
|eETe & fieger 9= o o B
* 391 BRI I8 B & b I8 AYE
G IS AT BIC AR DI ST Dl
sl

98.

98.

« HifeP eIt Bl 3
th
{m@w{’%l] } Ry
. Hikegas! ¥ B i3 g3 sffepel #
S A A AfYd IR AT ¥,
I IgTD Ped ¢ |
« ALY 96 HF BT & S A Al
& AR DT Gl Y&Iol B F&T |
T B TR T B B
o ey fagerd, S falT faaxor &
yfresl @& AN W AT
Bl
R # BN &7 & forg fo o1 o
(qated) XA & —
Apex institution of finance for agriculture
sector in India is :

(A) T3S /SBI
(B) FEIE/NABARD
(C) o1 S &2 /IDBI
(D) f=d/SIDBI
(B) + TS RT ¥ HfY &5 & forw fam
PN Hared XA B |
o FETS B AT ReRMEE Ay
P IMYR TR DT TS |
T dHeaR UUS R STATHe” B |
« IETS U & & S THI0T B &
& fderg & forg a1 1
« NABARD &I %91 12 JaTTg,
1982 %1 & TTE & |

+ NABARD &I H&HTed HERTE
o ¥ Rer B

99, ST FHIT FHEIfET B—

The ‘BASEL’ accords is related to :
(A) 9/ &/ Insurance Sector

(B) Sf$T &1/Banking Sector

(C) &1 &F/Services Sector

(D) 9% SN/ Commodity Market

99, (B) + ST AHSIIGT Sfeh T &1 3 Haferd

Tl

o Rrd S @i fear = e FHE
& R 1988 § SNt I B
JRF fomaT |

« I9 AFG Uh RIS AMS
¥l

* I8 AHS 9 1980 7 RacaRevs
o el R Yo AT T o |

« 99 AM® UH 4f¥gd wR
R dfeT v foxT awensti &
RIS Wy a7 & oIy g%
o T o |

* 39 TP IIA AFS P G FHS
SR W o & ¢ |

100. TIPS RS ?

100.

What are the objectives of Taxation ?

(A) TR T AT I &/ Taxation is

necessary payment

(B) 3refegaven &I R /Regulatory of

economy
(OESSIES] ﬁgﬁa’/ Increasing of production
(D) srefegazen § ¥ge/Balance in
economy
(B) » Srefea=en & fFaHT BRAT IR B
I
o LS. N B IOTR TR Srefaaeen
P1 T FEeTar B
- {57 <o g1 faa 4 fafay
R ¥ W G foran o %, S9
PR B T
o O F B IR R gRT s
HAT BT F FHHT07 B B I
o oL BT IR I 5 AT
W ERG & {6 IR § gof
gforfirar g S T

101. I5H &1 RIgRT et 9% TR ARL BT & 2

In which commodities principles of
exclusion enforced ?

(A) ST a%g/Private goods

(B) Hdwi® 9%g/Public goods
(C) ART (813) T /Merit goods
(D) 379 ¥ BIS T&/None of these

101. (A) « a5 o1 Rigra o0 avg IR &1

BT B |

o IR o8 BT JUTTed! AT TSR
e B AL | T T i
|qHd1 &, i avg Fear ¢ |

o o gRge @1 ST STeIR
RIgTa o AEaii® HErerd &
MR TR fam e &1
o aegail 9 darsli @1 SaAred
1 ST 8, 97 eSS 9%
PEd & |

R | 17



102.

102.

103.

103.

104.

18

9 H | DIH-1 FHHROT AR ATE,
ATl AR TgAF B G qE FE
TaRiq FRar s ?

Which of the following equation indicate
the correct relationship among mean,
median and mode ?

(A) M=3X-2Z
(B) X=2Z-3M
(C) Z=3M-2X
(D) $99 9 BIS &/ None of these

(B) » X=2Z-3M WHBRU FAR
e, AfADT AR IgeaTd B 9
SERECRESRCAGIR

o TG TT ARTD! § FHIAR HIET
T ORI AT & |

. AIfETeT g8 AT & S < T
|eE1el & foegel 9d # o B |

. i A (e T sffes H) S
T4 Fe¥ 3fYh IR ST 8, S
IEAD B & |

Rl & SRR, 31 <2 & 919 AR & forg

5T YR BT AT ST} 9T & ?

According to Ricardo which type of cost
difference is necessary for trade between
two countries ?

(A) fARU&T AT 8%/ Absolute cost
difference

(B) Ge™IdH® @RI 8T=<ik/Comparative
cost difference

(C) FH AN 3f=<¥/Equal cost difference
(D) $99 9 BIS 7T&/None of these
(B) « Raret & ogaR, I 39 & 9
R B U FeTreHDd T
IR IMAYID B |
* JTTHS AN BT Rigra fafde=
ENIIC LN RS CICIRSIC|
AN ¥ 3R IR MRS B |
« RPE & AR, I8 ARG
MR BT AR T
« QRIS MR 9 YR Bl BT
T - Fuid UR, e |,
T 7S
o IFRIEY AR S AR
Tfofafer @r Hef¥id axar & i
fodr <= 1 Arifere et &
TR B B
AESIe I B ANRS I S W4
AT T STl B

| AGRAWAL =XAMCART

104.

Public expenditure is used as a compensatory
expenditure in :

(A) TrSTr@Tet #/Period of prosperity
(B) W=AI®IaT #/Period of depression
(C) I @rel #/Both periods

(D) | 31af¥ #/Normal period
B) *

AP A NTdlh I B
SRS g S w9 4 TART
ST B |

o 9 fITg WR T JaT 3R SAreT
N B S qAT R, IS
IR Gud A TR B TS e
R R Ugd oI A1 3 3Mfefes #/ar
B B |

o O fHET Q9 B B, 5T qAT
IAMIY ARBR AT T G
i faem & fore @d ax a9

g TSl Tg bl & |

o HASING Ieg B A, M Y
BRAT AT I BRAT 8 |

105. HR—TIa B TPl 5—

105.

106.

Tax-shifting may be :
(A) 3T T 3fR/Forward
(B) 91& &I 3fIR/Backward
(C) ]FT 3R/Both side
(D) 379 & BI$ 778/ None of these
(C) » BR-fAaes SR Torr 9o AT IR
B P B |
» pR-foeei ae o & Forereb g1 Y
W1 ST AT Gl WR T AR
TN RS IR <TAT ST & |
« FR-Aa <A YHR FI BT B

ST I &R fgcH, Gio & iR
[EECE]

+ I efieeT & AR, TR &
Rrgia ¥ Barfa smemare Rigrd
5 e e B
- qof SRR SR # FR-faEdT
T & |
HIT B T PEdl B
The ‘law of demand’ says :

(A) BHd Eﬂ?g’ ¥ AT I &/Demand

increases with increase in price

(B) @Md gfg & AN wed &/Demand

decreases with increase in price

(C) w1 3fg & @ Fgd B/Price

increases with increase in demand

(D) flﬁ‘[ ¥ q‘%’ I AT 90 ¥/Demand

increases with increase in supply

106.

107.

107.

108.

(B) + i @1 f4a9 e & & orid afg
S AT "l B
« AT b1 79 Teb TP B T
MeRT & |
o HAT 1 R SUHIERT Bl JTeiffesdr
TR 3R & |

. 50 TR R T A R I
TR PIE TG TR H {5 avg
P S FAfS= AR BT HRa
%1 a9 wed B |
« AN & IF IPR B &1 — A
« AT B A B g B DA
MY AR 9= gIfad Bl % |
YS9 Td 91 W@Red (RCH) — 11 TR#
fomam T —

Reproductive and Child Health (RCH)-II
was started from :

(A) tdeT 2004 / April 2004
(B) 31T 2006 / April 2006
(C) =det 2005 / April 2005
(D) 31 2007 / April 2007
(C) + IS U9 911 WReF—11 BRIPHH
e, 2005 H URF fasar T |
o U FAM SiEl B S@fRT AT
HATAGLRT @ T[0T DI B I Pl
Tl
« 39 BHEFHA B SeYT T B
e U GRAR HemuT Harsi
¥ TUTaRT Ta GG GER AT S |
o IR AT, A AR w9 W
MRS B

Fr=feTRad % &1 SF—1 T ScuTe el
@ AT TR AT BT YR Bl & ?
Which of the following condition shows
least cost combination of production
factors ?

P _
(A) == =MRTS ¢
153
P, MP,

P, MP,

®)

dK

MP, _ dK
dL

MP,

©

(D) ST |91/ All of the above



108. (B) ° o MB ot e et

109.

109.

110.

P MPg
D AT AN FAN DI YER
FA B

TP IAEH AGH P TAN BRA
B I o1 Reifa § a9 2 59
T8 ATH TN AN B T
PRA §I T A Pl I HTH
PR B Rl 7 &1 S |

o IS B G T FAIEE 96
1 e fvg & g AT AN
P A S |

YT B o975 IR qPmirehl AR
URIeIaT IR Al B DI
3TYUT & SRTER BT A1y |

STee & IJHAR, PRAM &A1 Bl DT
Y SYAET § ?
According to Dalton, which forms of
taxable capacity is useful ?
(A) TARYUeT FRET &1/ Absolute taxable
capacity
(B) STUeT PR &/ Relative taxable
capacity
(C) (A) 3R (B) S91/Both (A) and (B)
(D) S ¥ BIS 7TE1/None of these
(B) + Siee & 3FIHR, BT &HA Bl
|E Y ST &
* Tleed YINTRITAT ATSTT fR16707 6
TP T
o B ISHT | 1919 H Toi Trdbaee
R fasfia o 18 o |
« 39 AT | 96E & AT U
FHSI foba e & o TR
qrAd B Th REd w9 H
ffEa st @1 Fw = BT B
sl

tIbiUII\'*‘ICb RIS S 3\1_(% %—

Frictional unemployment exists :

(A) 59 dR<Ifde Hebel ERe] SI& e/
When there is a decrease in GDP

(B) 919 TS YoM IR 5 I § g
2 A S B e § 99y o 8/

Because it takes time to get job when
one is first entering labour force

(C) IH-NdH aRac™ & TRUTawY/As a

result of technological charges

(D) W1 Ua far waT g & ST/ When

an individual retires

110. (B) » 9 ®Ig fd Yo IR S i

111.

111.

112.

A 1 & A I B e 7w
T & | T SeuTeH S RIS
el B

« RSN TH g Aawq & ored
PBIS AT B B ITHT B BIROT
891 &M & XE WA B

« MRA § IRISFTRY 1 TOFT & W
A & |

o RO ¥ <7 H G ST
Pl AT HH 2 Il & |

o YR H RO A=t qaR &
TS I &; S —ARF SRISFIRY,
Tell, AGYY, 37y, HAAHAD
e & |

* 37GTY RIS HY & 7 T8 SAH
%l

2
gAH R=1- 62? , ‘D’ Y HRal
N(N“-1)

-
2
In the formula R=1- 62? , ‘D’
N(N“ 1)
stands for :
(A) fa=re™/Deviation
(B) &1 BIfe @I 81=iX/Difference of two

ranks

(C) \e—\w~el T/ Co-efficient of
correlation

(D) S8 ¥ PIS &1/None of these

: 63D? :
¥ R=1- ¥ Dar
B)FFH R=1 T D

PIfe BT 3R Ybe HRaT & |
Tl Ih DT DT faeeer 78 & ?

Which one is not the characteristics in
difference curve ?

(A) 9 ¥ TR ST 7 IR R/ Falling
from left to right

(B) 818l &l et ¥ =1/ Should not touch
the axis

(C) Tb-gHR B! T8 Bredr/Never
intersect each other

(D) TT=Iaq YT 1/ Vertical line

112. (D) * SFa Y@ BT AT b DY

ENESIE RS

« T 43T P Th b a%P A
FeuvT Texer 9% wEena B

« TR o1 o HaY A AT |
AT ST b B

113.

113.

114.

114.

« T T AT F T & a0 it
PI SAENfIE ygir o e e
8l

« TR 3T UR B [IYH FAN
TP b FIRGN §RT fham T
o |

B ITRI WA H /T TI_IaAl ol ATy
-
In ‘dual gap’ model, the two gaps refer to :
(A) ISR axTel va faer
F+dxTel /Inflationaly gap and
investment gap
(B) 999 S=aXTd Td ATEHITADIRI
3=ivTeT/Savings gap and deflational
gap
(C) Faa areaar va faeeh qa1 arewan/
Savings constraint and foreign
exchange constraint
(D) fraer r=RTel Td e SfwRTed/
Investment gap and savings gap
(C) * ] &I IrXTeT ATSel H §ad
ez vq fasel gor qieger g9
] FIRTAT BT AT B |
+ Q1 RIS A &€ — SR B
R w0 |
faem a1 oiavrel o SuRUfd &
HIROT IR & |
* P PROT ERT] 994 AR a1 &
TR B FHT HRA & forg gt
5l

Tep Jed] I IR A= G <91id &

Difference coincidences on an indifference
curve show :

(A) 3T |gfte/Maximum satisfication

(B) S8 ?:I—g[&/ Same satisfication

(C) S g W 31f¥r® A=/ Greater
satisfication at upper point

(D) ST g TR H9 F=Ife/Less
satisfication at lower point

(D) TexIdl 9% WX Al |anT e
|Ye TN T | TCTAAT a1 BT Fo
gt TANT e WR P ford Torgef
= o o1, TRy TREEi 99 1906
Hgfic TR &1 fawemo iR &ifdew
IRIIRG AN Wl gRT o
T, TR RS B 91 e IR v
A eI IHT BT YA I AT TR
BT T o |

TR | 19



115.

115.

116.

116.

117.

20

THIYHR 2T B PIfC BT A §IRT AT
ST el & —

The degree of monopoly power can be
measured by the formula :

P-MC
P
AR
AR -MR

AR
AR -MR

(A) (B)

AR -MR
AR

© (D)

(A) * THITBR TfFa &I Dife HI
P-MC
P

o« I v FRTT wH Paet TEAE
VT & SN U TR rent Sare
PR el &, AN S forg IofR &
THIIBR & |

o THIBHR Pl Th IR o1 Reafey
FIRT ST STl & |
o gIOR # Yfa@firar @1 ervma
TPIIDIR bl Hoe ferererett 2 |
o Xifo=aT gR1 gfauIad UhIeaR
vifer <Y AT B |
VR ¥ {5 YopR o fa<T e IRy ST
37

Which financial system is found in India ?

3 A S 5 |

(A) Taa—= faa =gawer/Free finance
system

(B) 9w fod =raxern/Federal finance
system

(C) T@ra! fo<7 =ga=en/Unitary finance
system

(D) ¥ fax7 sga<el/Local finance
system

(B) * MRT ¥ e fa<] sga=en urg Sl
Tl
o o gaven & 9 ¥ fb O
e o feqar, foxig
TR, ST AT ARBR FIRT I
@ HAT B B
o MRUY fa< <gaxen & 7 ue& &
HIT Uet vd ST e |
« To foRir gorel foxi &1 & v
AR B o9 A B Bl & |
. I 9] DI TR GHGE T D
=0 A AT S B
o o~ STSIR 1 <Y | Sier T
T—q1fi TR Tg M7 IR |
YIATRIG b ARG BT FHAT0T By B

Commercial Banks create credit :

| AGRAWAL =XAMCART

117.

118.

118.

119.

(A) F©® W T8I/Out of nothing
(B) g gyl & SER 9R/On the
basis of their securities
(C) o9 HoT IRTRRT & NYR TR/
On the basis of their total assets
(D) ST FHE ST & SMYR IR/On the
basis of their cash deposits
(D) * ARG S RGBT AT STO+T
HE ST B SR X B & |
« IS & S Jh BT BE & S
g ST PR AT F9T < v P
Eac RS
. RS 9% & & IF PRI el
T B, M1 B AT HERH
B |
. AR I BT J&I BRI a1 A
H e T—<m1 R &=
AT F0T T |
A T & YT fage s BIeig —
Using the following data, find the standard
deviation :

X =6, X = 60, 2X* = 1000

(A) 4

© 8

(C) Given to as,
X =6, X = 60, £X> = 1000

To find,

X2 (zx)z
o= _(2X

(B) 6
(D) 10

N

100

= 4/100-36

_ Jei

=8
PG FREH, 2010 BRI SAaRg B
(GCF) &I ATqH1 1 T8, TR 39! faR
YIR¥ gall —
The Green Climate Fund (GCF) was

established in Cancun Summit, 2010 but
thought of it began in :

(A) Frell FFHEE, 2007 H/Bali Summit
2007

(B) FgCS TR BHAD Hae ST
FaATgHE I~ (UNFCCC), 1992

¥ /United Nations Framework
Convention on Climate Change,
1992

119.

(C) DU T, 2009 H/Copenhegen
Summit, 2009
(D) 39 ¥ BT 7T&1/None of the above
(C) » BTHA T, 2010 # R
STAATY IS B FAGAT B TS,
IR=g 3EH fIaR HIoaRTH
R, 2009 H YR g1 o |
« BT FHAT B SRS G
g Sierarg aRacd & forg faan
TRIT o7 |
* 39 GRIEH B I SR Ay
IR TR T 9 | & forg
AATHALT BRI BRAT & |
3 TR BT SRS i 7
T T o |
o T G H UST A Helg b
P T BaHT BT WIae &1

120. H3T THIRT ATHER—D 5—

120.

Inflation is profitable for :
(A) TRBR & e/ Government
(B) Ut & {1/ Consumer
(C) S@E® & ford/Producer
(D) f9991% & ford/Investor
(C) » 3T TN IHEH & foTg ATHERID
Bl
« Sueted gfd & AT &fed B B
g T I A AR B |
« YERHINT 98 I B & o W)
a1 I Jog Al ¥ &R sua
IRUTRGHY aegall T |arsi &
foTT o & WR 9 93 BRil ¢ |
o HST THI BT AH YHR 4 [
T a1 B— foTe gat g,
RS TFAYE T fdee 349
TTYM |
* e TART H ST arell i,
BOYHR, TS ST T 2A1h Y&
GCEZER

121. RIS THP! HT & A& & —

Important features of statisfical data :

(A) GHS FITHG ©9 I YR T
ST &/ Statistics are numerically
expressed

(B) ¥H& T & WYE ©/Statistics are
aggregate of facts

(C) FHPI P ITAH &RT THA foHar
SITdT ¥/ Statistics are collected by
estimation

(D) STdad 9/ All of the above



121. (D) « WIRTH! FHDI Bl G & AHD

AT 0 3 I {1 ST & |

. AIREDH FHDI DI THS T2 B
HIE & ERT 91 YR a1 S 2 |

* |IRTD! THD! DT THD| B TR,
T3 T e 1

- FiRE® 9HF 9 9= & Sl
TREYG & ST TR & AR,
E-fEiRa Sewa & forg @raferd
T HPHIeRT DR 37D H e [
S E |

* HIREID! DI R H <=0 H e,
URIY, THNI, AT B FHRAT
] TSR T B SR & |

122. 99 9% AT AT TG & 68 T Gl

NBAIGT —
When marginal production increases then
total production :

(A) 9 X 9 ¥gdT &/Increases by
increasing rate

(B) R 3T ¥/is neutral

(C) Tedl 3% ¥ ¥gal ©/Decreases by
increasing rate

(D) $99 9 BIS 7T&/None of these

122. (A) » S qP T SHEET I & a9

T A SUTET TGl &% 4 Tl 5|
* 9 T SYRIT I Bl &
He YR AT B B |
o FH-HMFT SYAIfar Em e
%1 fecira g9 weaman B

o M SYAIRTaT srefemred H ard
ST U YT B B avg B
T IIRFT SPhIS WXIET | I
BT

123. HoIgX Rigld o féetept gfcrarast o1, arepR

R foam T ?
Which of the following theory of wages
was propounded by Prof. Walker ?

(A) S+ faTe RegTd/Subsistence theory

(B) Siia WX &1 g/ Standard of
living theory

(C) A5 By RigTd/Wage fund theory

(D) 8raeIy orfereI Rigid/Residual

claimant theory

123. (D) « #oigq g # SRy SfaR

RigTT &1 UfdTa UI. Iy gk
fopar T |

- 39 Rigra & SER, Ao Th
e & T & g TR RS
B B

o TG B A P ER0T ST
i qon g B e Wk
SECIRT

- Sie fafe RigT< a8 & fob ife
P AL B SMgT—(AE B
TR P TC @ & forg T8 &
ST =Ry, Sieh Holgyl # aX
PH-I—PH AN & S AT
b 98 o ET—ed @ WR B
A IR W |

. TG BN g B gfideT
1. 97 U 7 T e |

. 39 NG & SIgER, AG3 B
Ff¥Ed 89 & SRU HOIgY &%
AP B TR TR AR BRA |

124. 331 gff 9 gfg & Borawd 81 & —

An increase in money supply leads to :

(A) IS 9% I TR% Red S B/
rightward shift of IS curve

124.

125.

125.

(B) IS 9% 91l W% Rawsd T ¥/
leftward shift of IS curve

(C) LM 9% 91} oR% Raw\sds ol 8/
leftward shift of LM curve

(D) LM a% s aR% Reweds el &/
rightward shift of LM curve
(D) « 931 Yff 3 gfg & Herwawed Bl &
6 LM 9% <1 TR e Sl
Bl
* 31 YR 98 H3T1 & S S B U
T AaIRE S § AAT O &
w0 H e B
« 3T YRS THAT arefegaen # fly
Y IR IuAH YR T Bl AT
Bl
* M;, M,, M;, M, 5I¥e ®icdb HgT
IR & AP ¢ |
o M, 931 I # W Sfep kel
Y B
gfE MPC = 0.5, A1 U (k) &1 A1
T —
If MPC = 0.5, the multiplier (k) will be :
1
() 3 (B) 5

(C) T/ Zero (D) 2
(D) f&ar &, MPC = 0.5, k=2
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